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�N�9������ /� �� 2� 82��-I� �� 2� 2�=��.K1�� ;��-�>1=-� ��, �
8>I�2� ��� ��E� 8�2�93G

��8� ��B�23��� �.� >����� 8�>B:-� =� >8�2�1:=�2��� �
��B8�2�1�=:� 2� ��;1�?� ��=��<�>1�� �� D�D,�G� �� ��� 82��� /� > �
=�=�8��<�� <��8���.@�,�G� &�B� ;�1:��� 23-2�1�=:� =���>J��HF �
��-� ����H����=�:� 8�2>D,�� 2� B�1���=���� ;1��:�� 8�� @�,�C
1���,?� �� .�B� D1-;,�� /� �B.3��,� 81���3I� 2�1�=?� ��B�8 �
82>�-� ,�=,�8���G� �;>���,� ��B2�1� �A� ��,���EG

��B�1�=:� /� > � (���<�E� .31� ;���;�1���?� �� ���?� /� ;�C
-2�1�=:� 2�������� =������:G� ���� �� J�>� .3� ��� ���:D�� ���B�C
����1G� �� =�EH�=?� 2=����-=:� =� ��E� <1�B���?� ��� =HA1� ��;��C
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1�H�3�� B�8�� ��:=-� H>�:� 8�1:D�?� .>8��� ��8�-1=-� >=;��: �
��� ;�1K.�2��:=-?� �� 23-2��:� �E� H��F��� =2�AG

/� ��,��� .��3D��� ��B2�� I�8�1�� =K8�� ���:D�M� �K.� �
2�8:� .31� 81-� 8�1�23I� 2=���HM

/� ����A�=-� /� ���<�<�� ���>B����?� /� ���H��� ���B2�1C
=-� �2�H��G

��� ;��2��� ��>B��2������ �� ��;��-����� .31� =;>���, �
�A� /� =� 231� ���3��� ;�82��3��� =��3��� 1�,�����?� H>�: �
��� ��;��� ���3E?� =� >2������F1���23��� ��������G� ��8C
������ �,��>1� ��� 23=D�I� �N�9���2� =� �I� �,�8���H�=,��� �
�,=�1:.������� �� �,�8���H�=,��� =���.�-�3�� ;��.����� / �
,�,� <��8���.@�,�2?� ��� .�1:D�� ��;>=,�-� ��� ������=�G

/�V��� 2�� 2���-� 2�E�3?� =�;1-,� ��,�EG� ��<��-�:� .3 �
�<�� ;�� I�8��� =��.@���-?� 2� ���� ;�<�.�1�G

/� ��F�?� /� .������1� �2�H��G� /� X���K�� =��I�� =�����C
.>1�H�=,��?� =1>D�K�� J��I� �=����,�2� ��2��-����� 8�� ���C
���=,�<�G� X��� �>�� ;�,�� ��=�A�� /� ���� ���B2�=���G

���23E� J�� � ��=������� .31� 81����-� B�1�� 2� ,�2��I?� 2 �
��;1�92���3I� DA1,�23I� B���2�=�I� ��� .�1:D�I� ��AI���HC
�3I� �,��I?� 2��I��E� =2��� ��=�1:�3E?� �� ��� =��1�I� =��-1� �
B��.� >����3�� 1��;3G� ��� ��;� ��=������� �B����1=-?� 8�O �
=�8�1�� 8��3?� ;���.1�=,�2�-� >,��D���-��?� ,>��1�� 81��C
���>�8D�>H�3�� ;�;���=3?� �� 2� 8�1:���� ><1>� >� =�82��>C
�3I� =��1�2?� ;���<�> ���3I� .1K8���?� .�1:D�-� ,��;���- �
=;��21-1�� ,�,��F��� �31�2��� ��� �=�2�G� ��� ��I� 8���=�1=- �
�B.3��,� =3��<�� D>��?� �� �@A� ��� ;���=��?� B�� B���2�=,�E? �
��=����1�� 81-� ��I� ,�,��F��� B��1�@�G

�����3�9�2� ��,�<8�� ��� .31�1K.���1��� ��=������2� / �
;�� ���<�1����E� 8��� ��E� =��=�A���=��?� ����� ;���9�;��1:C
��O� 1K.�E� ��=������ =�� ���� ���;� 8�1�� �� ��B8>2���� 8�1K �
>8�2�1:=�2�-� /� ;��;��9�-?� ,����>K� �����3�9�2� =�.�� 2 �
 �B��� ��,�<8�� ��� ��B��D�1?� 8�� 8�2��� �� ���  �1�1G

��� =�EH�=� ;��-���� .31�� �;>=���:=-� 2� �-<,�E� =�>1 �
;����2� �2�H���� �?� > �� 2� �.I2���� =1� ��<�� =��8�����- �
���<�I� =T�=��3I� B�;�I�2?� ��2��.��B��3I� 81-� N�����C
2�,�?� ;�8 �8��:� ;�,�� ;�8��=>�� ���K?� �� ���:D�� ��<�� H�� �
 �M� /� B�,>���:G

�1>H�E� ��,� =1>H�EP� /� I���D�� ��,�32�1�=:� ;�<�2�C
���:� =� 8�><��� /� ��=��=�A���?� �.�.@A���G� ���-� 2� �����C
<��8�� ���� 2=�I� ��B<�2���2� �����3�9�2� =,���E� ��=��-==-? �
H��� =�.��1=-G
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�� �2�H��� ��=;�1� �1=-� >8�.��?� ;��-�>�:� 2���-� 8� �
;��B8�?� �� =� >8�2�1:=�2���� ;�8 �<�1� ��>.,>G� ��� ;�� H��> �
.31�� ��� ><�8��:?� H��� 2� J���� =��3E� H�=?� �1�� �,�1�?� �<��  �C
��� 2I�8��� 2� ,2�����>� �� ��� �> �?� ,����3E� ����=-� �E� B� �
=��:=��� 2A�=�?� H������ <�1:�����>K� B�;�=,>G

����B���1:��?� ,�,� J��� =��<� ��� ,�>��� ��,?� �� ,�,� =�C
.�E� 21�8���G

�����>� ��� .31�� 1�<,�� 8�><� =� 8�><��?� H��� ��H�<�� �� �
��8�� ;��<�2���2��:� ;�8��.��O� I��:� �� ��� 2�8�1�=:� 82� �
<�8�� �� ;�H��� ��� ;���;�=32�1�=:?� ��� ��1:,�� ��B2��:� /� � �
�.���� -=��� .�1:D�E� H�=�:K� ��� ��H�1�?� .�1:D�E� H�=�:K �
8�� ,��9�G

�=1�� �����	� ?� ��,� J��� ��� ��8���� D��;��=,�<�?� � �
>H�=��,?� <8�� 2=A� ;��D1��� 1���� �.�@�1�� =�KB��,�� ��H��: �
��=�>;1����� 2� 23B2�1��:�� ���?� ��� ��� ��H�1�?� ��� 8�1�� ��� �
=<����:� 2� ��D��� ;��D1�<�8���� .�==���-8���� <�.�1:��� �
��I�8�� /� �� =���-8�2� �� �� ��� ;��=1�1�� ���G� �� ,�<8��>���= �
2=A� ,��H�1�=:?� ��� ���� .�B�;�1:B3�23;>=��1�� ���� ��11���� �
=2��I� 2� J��E� =���E� '��;���G

��� H��� =�KB��,�� =8�1�1�� B�� 2�=:� �-���89��3E� <�8M �
�� ��<1�E=,�-� ;�I���� /� ���<�� 1�� 8��1�=:M� �� ��H�1��2�E�3 �
;��82��>1�=:� ��� ��=,�1:,�� =��� �����2G� �H��:� > � =�.-� .�C
��<>�G

�1�O� ,�2,�B=,>K� ����K� B�H��� <�����2� ���> ���� .�BC
��8A ���� ��=�>;1����� ;�� �>��9,��� <����M� X��� �� �� �
.3�:� .�==�3=1������ ��D�<�� ��=�>;1���-� 2� �>�9��M� (��3? �
=��<?� =>2���2=,��� .�<��3��� �� H>8�=�?� 2B-�� V�B��>�P� / �
�� ;�������:� ��H�<�� ��1:B-?� 2=A� B�-G

��� 23�>H���� =�KB��,�2� ;�8���1���,���G� ���23<�8�� �
81-� ��<1��� 2� ��=�;������G

��H�<�� ��� ��8�� �.T-=�-�:?� ��1:,�� ��B32�EG� ����-.�:C
=,�E� 1�� �B��1��� <2��8��� ;�8� �2��KI���F���3���9�E �
)��B2��:-� /� ,�,� ;��1�;1��3?� ;�� 8�=����=�2>� �;���9��0G �
�1�� �����2=,��� .�==�3=1������ ��=�>;1�����>�����H:F���F �
=2-�3� /� .�B� 2=-,�I� D��=�2� ��� >=;�I?� =;�D�� 8�� ����;�1�? �
���=H���-�;����:?�;��82��>1�=:� /� �� ��=;>��9�?� �,�;3�B�1�C
�3� 2�8�E� ;�� ,�1���?� ����11���-� �� �.�B� ��� ;���82�<�K�=-G

/� �� 2=A� ��1:,�� /� 23�>H��:� =�KB��,�2� ;�8� ���8�C
���G� �� �� 2��8��=,�E� .�E� ��H�1�� ���93?� =�KB��,�� .� ��� ��C
D�1�=:G� /� �����3�9�2>� > �� 2=A� ,� �8���>� 92��>?� ��H�-�C
���>G
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��� �2�H��� �B� ���2,�� �� ��� .3�:� �� =;��2�81�2�EO
/�V��� /� �B��1���3�� .��G� Y���9>B3� ;�8� ���8���� �

�� �� =��� �3=-H� ;����-1�Z
�����3�9�2>� 2=A� ��2��� ��� ;�� ���2>O
/� ���� I��:� /� =� D>���� ��� 2�=:� ���?� I��:� 2� �=����K �

2�E8>�G� �� V2���� =,�1:,�� ;����-1M� ��2����GGG
/� �3=-H� =��:8�=-�G
/� ���P� �� /� ��� B2>,�G� ���� ��,� �3� >������G
�2�H��F��� ���<�� B����?� ��� 2=A� =��B>� 23�-��D:G
��>8�-� ���� ;��=31�K�� /� ��� ��.�?� >.� �?� H���=����>

��� <� �G� �����D�E�I�>=�-@�E�,��=,�E���>��9��?� ���B��-8C
�3I� -@�,�2� �B� ,��8�2�E� 8��2�=��3� /� ��� ��,�B32�K�=-G �
�� ;���2�B�2� ���� �> ��� 4SS� D�>,� /� ��� 8�K�G� �I� N���>C
1�O� ;����.��=��� $�;�8��<�� N������ <����8�3?� ����2��:� �� �
��<�� ��� �� ��G

��� J��� H��P� /� �� 1K8�EPGG� # �� 2=,���� ;�=1��=��=���2F �
=,�E� ,���=���N3� =�KB��,�� ���1�� ��<1�=�:� ;��=��:� >� ��= �
H��3��� ,��;>=�� 2�� Y���9�K� H���B� ��I��<�1:=,G� �� ;���� �
>� ��I� .31�� ;������ 2� >8���3I� =���<�1:9�I� /� �� =� ����� �
J��<�� <�8�� ���� .�==�2�=���� ���.�2�1�� ��� ��=� +SS��3=-H���C
D�I� =�18��?� ��� =2�E� N����?� ;�� +S� �3=-H� ,� 83E� ��=-9G

�����3�9�2� ��� ��� H��� 23=2�=��>1?� �� /�238�I�>1� ,�, �
;��� ;���2�B�3EO� 2�F�F��� B�� H��� ;���B �1�� J��� ���83�.1�C
<��.��B�3�?� ��2����� =� ����?� ��=�-�3�� 81-� 2=�I� �11K=�C
����2���3I�  >���1�2G� �� ;�1>H�1�F��,�� �>==,�E� J,=;�8�C
9����3E� ,��;>=P� ��H�E� J��<�� ,��;>=�� 238>���:� ��1:B-O �
H��.3� =�8�1�� �>==,��� �> �,�� B�� =��:K� ���-��� 2� H> �I �
����D�-I� ,�,� ,�1����1:�3�� =���<�1:93G

/� �>?� ��� B�� H��� .� -� ��� 8�1� J��<�� ,��;>=�P� /� .>�1�1 �
�����3�9�2G� /� $��H��?�2��2��:�8�� ;�=1�8��E� ,�;1�� ,��2�? �
��1:,�� �>==,�EM� �>?� ���� >� (�=>8��-� �2A�8�=��?� �>� ���>P

�� ;�� �2�H��>� ;�D���1� 2B<1-8��?� ,�,� ��� ��=HA��(�=>C
8��-M� ��� 8�1 ��� .3��B�����:=-G

/� �� ,>8��  � 8���D:=-M� /� =�� =2���� �.3H�3��=;�,�EC
�3�� ;�==���B���� 2�B�� �1�<�1�<�1�23E?� <�1�1�93E� �2�C
H��?� �.=��� ���3�� ��1��:,��� HA��3�� >=�,�� ;�8� .�1:D�� �
��=��G� /� �1�,=��2� ;����<�2�1=-� =� (�=>8����?� =� N���9>C
B���?� ��� [� .��<�8� ;�� *S� �3=-H� ;��D1�=:� 8��:G� #� =�KB��C
,�2� 1�<�,��  �1�B��-O� ;�=,�1:,>� ��8�=����,� 2���> ���- �
��� ;�B2�1-��� �>==,��� �=;�1:B�2��:� 2=�� =2��� =�13?� ��� �� �
���� 8�1 �3� 8�.�2��:� ��> �-?� �� �3� 8�1 �3� =2�.�8�3E
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1K8=,�E� ;��=���1�>8�1��:� ����I�N����G� /� #=��I�>1=-O� / �
��,� ��8�3E�;�J��H������ ;��J=���8��O� Q��D:�H���B���D� I�C
1�8�3E� ��>;� ;��E8>��2��<�?� H��.� .3�:� 2� ���� �GR

�� 2B<1-8� �����3�9�2�?� ����� =2�H��=,�<�� ;1�H�?� ;��C
DA1=-� ��� �>� ;��>?� =�2D>K� H���B� ���� =��1�G� �� ;�H��>F�� �
���� ����B2���3E� ��8�3E�;�J��=�2��=��1=-�81-���<��=�J��� �
8�,�8������ =���2��3���1�,�����?� =;���E�=K8�G� �� ��,��- �
=�8�1�� �H��:� >8�.��� 81-� ��.1K8���-?� 2� ���� H��2����G

�� I��-� �����3�9�2� > �� 8�2��� >.��1=-� ��� ��I� �3=1-C
��?� �� ��B<�2��� =�� �2�H��3�� .31�  �B������ 2� ��?� �� 2=�C
<8�� .� ��� .31� 2�=:� �>�?� 2��B�-=:?� /� �� 2��� ,�,��F��� ��2�� �
�=����H���� 2�������� ;�-2�1�=:� 2� �A�?� ��� >I�8�1�� �B� <1�C
B�?� �B� �3=1�O� �� HA�� ���� ���� ��<>�� ��B<�2���2��:M� H�� �
 �2>�M� �� H��� ��>� J��� 8�2�9�?� ,����>K� ��� ��,�<8�� ���>2�C
8��� .�1:D�M� /� ��� H��F��� 2=����H�2��� ��� ��A� 2�D1�?� �A �
;��=>�=�2��� ;�H��>F��� 2=A� 2���-� �@>@�1�=:G� 	�B��E�  ��C
=�2����=��?� �,�B32�K�=-?� .32�K��  ��@��3G� V��� �B<�.�C
=��-� 8�2>D,�� 2�8�1�=:� ,�,� ,��9�����9�-� 2=�<�?� H��� ��, �
<>=��� 2� J��� 8��� B�I1�.�>1� �����3�9�2G� ��� > �� ;�� ���>? �
,�,� ���� =� �B2�BH�,�� =�=,�H�1�� 2� �.���,>?� �� >� <��8���.� �
.31�� 2=-� ;�2�8,�� ��8����-?� ;��2-B����-?� 8�=�8��� >.� C
8�1=-� �� =��3E� .�=,��3=��3E� ��.1K8���1:?� H���J�����,��- �
=�� 2������1:��F��81���3��� <1�B���� �� 82�E�3�� 2�8�;�C
8��� 2�1�=GGG

/� ��,� �� 23�� �K�=-� ��,��2����O� 23� ���� /� =�18��? �
��<8�� �3� 2��� /� ��> �-G� ��82�<���� ��D���� >������� �
2�=I�@�K�=-?� �� ;1��� �E� ���.>K�� ,�,���=��2@�,�O� B��2=� �
2����3�� B�,�B3� =�=������H�=,�� ;1����� ��1�H�3�� B�1�C
���� 2� 1��8��=,�E� .��,?� �� 2� 8�1<� /� ��H�<�G� �� 2��� �=��C
@�1�=:� 2�1K��� /� �� ��� �� ��� 8�1��:�2����3I�B�,�B�2?� =�C
,��@���G

�2�H��� ���@�1� ,�>;�3E�  A=�,�E� ��=� ,�,� ��� 8>���F �
2���<�� B�;�I�G

�� �� ��� 2� 8�1<MPG� �>?� ,�,� .3� �3� ��� .31� ;��8�=����C
 A�?� ,�,� .3� ���  8�1� 8>���<�� /� �� 2=�<�� ��,�<8�� ��� ><�C
8��D:G� ���.>-� ;�� +S� �3=-H� �>==,�I� ��1� 2� ��=-9� /� �� B� �
,� 8>K� �1�B,>��>�� ��B�1���� ��� ,��M� ���?� J��<��B�;�8��C
<�� ���<�� ���� ��,�<8�� ��� ;��-�:P� �� 8�,>8�� �� �3���8�A�M

�����3�9�2� =���8���1:�3�� <�1�=��O
/� ���F���=���3P� �3� 81-� ��I� /� ��� ��2���@�� ;�� ��C

=H�=�:K?� �� >8�.��-� 8>.���M� Y���9�-� /� ;��=��� ,>;�1����=G
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��,�  �� �� ��� ;��� ��D��� .�<��=�2�� 8�� ��,� ;�;�=�:M� ��, �
 �� 2��2��:� ��,� ����2��M

�� ;�8� ��,��� 2�;��=3� /� ��1:,�� ��	� � 1�9��2=�<8��23C
=��21-1�=:� ;���8� ���?� =�� =2���� =��=�A���F��2��8>D�3� �
23�� �����G� ��8:� �	� � � 2=A� J��� B����P� ��,�  �� ��� �� �� �
��,� >=�>;��:M� $�H���;�1�B�2� ��,>K�;��1KM� ��H��>� ���B�<�C
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,�-� ;�;3�,�� 22�=��� �<�2��,>?� ��� =;1�D:� �� ��� 1K.��: �
�1�� ��� =;1�D:� =���=���� ����2�8��:?� ����1,�2���=-� =� ��<�C
8�2������ ,� 8�E� �B� =�����G� ��� 2� �3=-H�I� 2�;��=�2� .3C
2���� ;1�8��2����� 1�D:� =��8�--� ��H,�� B����-G� �� ��> �1� �
;��28�?� <�=;�8�?� �>�� ��2�B�� ��� >=��-�:� ;�=���8���M� ��� �
-� =H���K?� H��� -� =��K� ;��H��� ;�=���8���G� "� /� ��D���1:�� �
��,�<8�� ��� =�<1�D>=:� ��8��:� 	�==�K��2��-�� ;�8�=��=I�8�C
��1:���� �>,�2�8=�2�?� 8� �� ��1:,�� ����11�,�>�1:���G� �� �
-� ��,�,�<�� B1�� ;����2� ��I� ��� ���K� �� ��,�,�<��  �1���- �
�I� ;����=�-�:G

/� $��H��� /� ;�=1�.��:M� /� <����<1�=�1� �2�H���=� ��;�C
,�8�K@�E�  A=�,�=�:KG� /� ��,� =��B>� ���� ��� <�1�2>� �� =-C
8>�P� ���� 2� J���� �� =�,���?� ;������D:M� /� ���� � � � � � < > � �
�� ��,�<8�� ���=�<1�=-�=-� ;�F��2���>G� ��,� ��1:,�� ��� ;�=1�C
.�D:� /� =��B>� ��� <�1�2>P
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/� ���� ,� ��=-?� /� =�=��8���H�1=-�(>H,�2?� ��B<1-83C
2�-� =2�A� ;��=��� ,�,� =��>K� .�1:D>K� B�<�8,>?� /� �� -� �� � �
B�����K� =��8�KK� ;�B�9�KG� "GGG� �� ���� ��,����3�� �8���C
�3D1����,�GGG� �3�;��������2���,�,G� �2���� /� ���� ;�=1�C
�3G� ��� 2�� 2=-,�E� =������ �I� D�=�:� ��11����2?� �� >� ��=� 2�� �
�=�:G� $�H��F��� ��8�� .31�?� H��.3�  ��.�E� �>==,�E� �� �2��EC
=,�E� ;���;1�1�=:G� 	�=;1��>�=-� 1�� ,�<8�� �1�� ���� /� �� �
B��KG� X��.3� B1���8��� ��B2��:?� ,�,� (��9��D��E�?� ;� ��3 �
>=�8�.� /� Q�11K����9�-��R?� ��8�� .3�:?� ,���H��?� H> �E �
8>D�EG� ��?� H��� 81-� ��=� .�1:?� �A��3�� �> �,�� ��� ;�����C
K�?� H��� 8�1�K�?� 	�==�-�   A�� �� <������ =���� =�.-?� /� ��81- �
8�;>����� �>==,�<�� ;��1������GGG� �>?� H��� �� ;�,�E���GGG� $�C
���?� -� ���=���>�>�2�� 8��:?� H��� �2����2�9�1��� ��=�1K.-�G� � �
8�><�E� =�����3� ;��B��K=:?� H����� -��I?� 2� �.@��?� .�1:D�� / �
��� 1K.1KG� ��O� ���� /� ���� ;�=1��3G� ��;�=,�1:,>�<�=>8��C
=�2�� /� ��D�?� �3� 8�1 �3� J��� ;���;1������� ��D��:� ;����C
1���� 81-� 2=�IG� �� �2��;�M� /� =� ����� �.��@�1�=:�  A=�H�? �
H��� >� ��=G� X����� �=�81�=��M� /� ,�<8�� .31�?� ��=,�1:,�� �� �
��� ��D�1��B�=�1��:� ���<�21K?� ;���3D1����=�:��� .��,�G� � �
��D�� =������2��2���-�2�E�3�B�2�=��� /� ��� �� 8>����8�3I �
�2��E=,�I� 8���<G� ��2� ;����8�H�=,�E�;�H���� ����2=�=�1:�3? �
8�G� �� I>8� �=�2����-?� �� ������1:��-� ,����,�� /� 2� �I� �>C
,�IG� �� ��2�B�� ��� ;>=���:� �I� 2� �N�9��=�2�?� J��� �;�=�� �
81-� ��D�<�� 8>I�G� �;��H��?� ���� �>8�� �� ��� =����-�=-G� � �
��1:B-� 8��:� ��� .�1:D�I� B���1:�3I� 21�8���EG� �� ���� �� �
������ J��� ��� B��H��?� H��� �3� 8�1 �3� �I� ;����=�-�:G

/� �3� �� ��� B�������?� /� <���1�� HA��3�� <1�B�� �2�H��� �
;�� �.�� =�����3� ,�>;��<�� =�1:��<�� ��=�?� /� ,�,� 2=A� >=�>C
;���G� ���� ��,?� ,�,� 2� ;���3D1���3I� ,�������I� =.�1�=: �
��� ;���@�� N����>� ��� ��=D��32����� 21�=��G� ��,� 23� /� � �
.��=����� �=,�3� ;�� ,�3D��?� �1�,=��8�� �2��3HG

��,� H�1�2�,?� ��� <1>I�E� ,� ;��=,>�=2��I� �D�.�,?� (>HC
,�2� ��� =;�D�1� B�;�1:H�2�� 2�B�� ��:?� �� 2� �8��E� �>,�� 2=A �
��,�  �� 8�� �� 2����2��3E� B�@��� ����B<�8����<�� ;��=��? �
8�><�E� 1�8��:K� �;-�:� ;���<���8�1� 1�.?� �� ��� .3�:� �� �
��� =2���?� �� ��� <���,�<�� =�.�=�8��,�G� �� ,�,� .3� �@A� ;��C
2��-1� =��� =� =�.�EO

/� ��� ��� �� ��� �3� ��,�B��:=-� ��� �=2�.�8���1:��<� �
82� ���-� �BFB�� ��<�?� H��� �� �2��-�� ���� ���2��=-?� �� ���� , �
���>� ;���,�>1�GGG

�� �����3�9�2O
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/� �3� �� �� ,�,� ,�8��?� ��1:,�� ���.����G� #1>;�1=-� 2 �
,��E��=�:O� �2���?� .�1:D�� ��H�<�� ��� 2�8�D:G� �.� J���� -� � �
2� &>,�2���� ��<� =�.�=�8��,�2� ��.���:G� ��� -� ��.�� ��=,�1:C
,�� 2�;��=�2� ��B�2>?� �� 2=�� 2� ��E� �2��E=,�<�G� �I�1� -� 82� �
�3=-H�� 2A�=�?� 2=�����1� 2�=��.��I���,� ��� �8����?�H��.3GGG

X��.3M
(>H,�2� �=2�.�8�1� ��� ,�B3�:,�?� ;��;�8�-1� ��� ��F �

���3�9�2�� ����1�83�?� ��� �21A��3�� ,����� <1�B�� =� 23C
,����?� ;� �1>E� �� �� ��B8���23�?� ��� =��3E� 2B<1-8� / �
2B<1-8� .�E9�G

��H�<�� ��� ��,� =��B>� �� 2������1:��� ;�=�����1M� �� �
��=;��=��� ;�=�����1G

GGG�X��.3MGG
��� ��,��?� ,�,� �����3�9�2?� /� ��> �1��  ���>� ��� �> C

�3M
���-� B�,��1�=:� ��;��:O� ��;�8� � � � /� ;��������(>H,�2 �

��� �1�� ��� ��MGG
GGG�X��.3M
��� <�=;�8�?� 8�� ��> �1��  �� �3?� ��,��� ��D���1:�3�? �

>��3�?� J���<�H�3�� 1K8�?� /� �� ��� =>����� ��H�<�� ;��8>C
���:M� ��� =�� ��� =;�=��� 8�1�MGG

���=1�� .�1:D��� ,>=,��� ��=�.�N?� �.1� ���3E� B�C
1��:KG

(>H,�2� ��� =��1� �<�� �=�:G� �� ;��-��1-�� /� ����B�1�?� � �
���� =��1�� ��>8��:=-G

��,�� 1�,�E� .31� /� ;���1H�1�?� ��� �� ,�<8�� 23D�1� / �
H��F��� ��B<�2��� ��� 2�B�.��21-1=-G� �2�H��� 28�><� B���1H�1 �
��,�  �� ,�>��� �� .�=;�2������?� ,�,� ;���8� ���� <�2���1G� �1 �
=� >8�2�1:=�2���G� (>H,�2� �H�2�8��� .��A<� �;;����� ��� =1�C
8>K@�E� �.�8?� �1�� 2��.@�� ��1�� �1G� X>�:FH>�:� ;��<>.1�C
2�1� ,��=���� 2���� /� �� �� �� ��1H�1G� �����3�9�2� /� ��G���< �
<�2����:� ;�-��?� ��� ��8�� .31�� ;�88�� ��:� 2� ���� ��;��2C
1����O

/� �� ������=��?� �1�,=��8���2��3HO� �1�,=��2� /� ��2�C
��1� 2��� ��� 2�D�� ;�=:��M

(>H,�2� B�8>�H�2�� ;�=�>,�2�1�=�-�3�� ;��=��� ;�� ;�1:C
9>O

/� ���G� ��G� $�� ��<�� ��2���1� '�K����G
/� ��,� ��,M
/� ��� ������ ���I�2��<�� B�;����1� ���� 2T�B8� 2� ��E=�C

2>K@>K� ����KG� �� �� ,� =�������3�� ;��B8��G� �>?� ���� .�C
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1��?� ,���H��?� 2� ���2,>G� ��2�D��.3�N�����2G� V��� ���� I���O �
D�� ��==H���1��>8��G� /� _>��1=-G� /� &�B� ������ -� /� H��M

��� >8�� �1=-� �2�H��?� �� �>�� ;�;��A,O
/� �� 23� .3� ��� �I� ��=��� ,�,M� &31�� .3� 23� <1�2��<�=>C

8��=�2�?� �� 2��� ��,�E� H�=��3E� 8�-��1:� ;�D��� ��H�1:��,> �
D��.�� 2�D�I� 2���> A��3I� =�1?� H��� 2�D�� 8�-���-�=1-,��C
��-�  �1,�-� 21�=�:� <��A�� ��� ,���K?� /� �� 23� .� �<�� ;>=,�1� �
8�1:D�� ����K� ��B1�<��:M� ����  � 2��� 2��� ��� ��2,�B=,�E �
��� ;��;-�=�2>K�GGG

(>H,�2� ��� =;�D�1� 2�B��B��:G� &�B� ;��=��� 1�9�� �<�� .3C
1�� .�B��> ���G� �,1�832�1� >=��D,>� �1��  �1�2�1=-O

/� ���8>;��8�1� '�K����� �� �� 2�B�� ��=��� 23=31,� �
�B� =��1�93G� �� > � =1�8��� B�� ���E� 8�;��������� ;�1�9��� / �
��2����?� ��� B�� ,�,���� .��.�=����� ��,�<8�GGG� ��� ��1�N�C
�>� �� 2� ;�=:��I� .1K8>��=���� ��=�:�2� �����IG� ��8�>B:-��? �
=� .���:-��� ,��F,�<�� B�2A�� ,1�H,���G� ���>8�21K=:?� (���C
<�E� ��I�13H?� H��� ��23�> �� ���B����,�?� �=1�� ��=,�1:,�� ��B �
��1�N�����2�1�G� ��� 2=�I�;�=�����1�E�8����2�8A�=-����=��G �
���� =�EH�=?� ��� =����2�K=:?� B�� ����� ;�,,��8��� <��1�� N�C
1A�3� ��� 1�I�H�� �� ��;��:� >� ;�8T�B8�� 8� >�-�G

/� �>?� �1�,=��2>��� ��8�=��1�=:?� ���8>��E��?� /� >;�-C
��1=-� �2�H��G� /� �� =� (�=>8����� >� ��<�?� ,���H��?� .31� �
�.T-=�����G

/� ��,� ��� �� ��� ;���;�=32��:=-� =� ��,��� ���B�29��? �
=,�����E?� ,�2���3�� ;�>,��M� /� <�>=���� H���B� =�1>� >13C
.�1=-� (>H,�2G

/� ��2����G� ��������G� �� �1�,=��2?� ��8�� 8>���:?� ��C
�A,=-� ��� 2�=G

(>H,�2� ;�8�-1� .��2�G� �;>=��1G� #B��2�-G� X���  ?� ;�C
1���H�=,�-� .��:.�� /� ���� ��,�-� �� �=�:G

/� �� B�.�1�1� 2�� ���<��� ��� J��<�G
/� �>� ��� =�2=��� ��,?� �3� <�2���1P
/� ���� .�1�B�:� -� =13D�1?� /� ,�2�1� (>H,�2G
/� �� ��;��:?� ��2����?� >E8A�� 2� 81���1:�3E� ��;>=,?� 1�C

H��:=-G
/� �� ��;>=,M� /� ��=���� �1=-� (>H,�2G� �� =��B>O� /� � �

,���  �� 2��=��� ��<�M� /� �� ��=,�32���3�� B��H�����?� ��C
=;��=��G

��?� 2� =����� 8�1�O� ,���  �M� �@A� .3� ��� 2� ��G
�2�H���1K.�B��O
/� ��,��K?� H��� =13D�1?� ��1:,�� ,��N�8��9��1:��G
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��<1�� .3� ;�=��2��:?� ,���H��?� 1K.�<�� �=��1�;�?� ��� ,��8�C
8��>�3?� ;�� =1>I��?� �.=> 8�K�=-� ��,��O� (�1�2��� �1��	>BC
=,�EG

(�1�2���MGG� ��> �1�� ;�83�>�M� ��D�<�MGG
(>H,�2� ��=�8�1� ;��=��G� ���� B�.1�=��1�� ;�2�=�1�EO
/� (�1�2��� /� J��� .3� B���H���1:��G
�1-� �����3�9�2�� ,� 8��� =1�2�� (>H,�2�� D1�� ;� �

8�><��>� ��B.��>O� B���H���1:��M� �� /� 81-� H�<�M� �� ,�,�� �
=�3=1�M

/� ���;>=���� =��1�� .>8��� 82�<��:?� /� ;��8=,�B�1G� / �
�� =��� .>8��� 82�<��:=-� �H��:� �=�������1:��G� ���=�1:��� �BC
����1=-?� <�=;�8�G� ��� ���� >� ��=� =�EH�=?� <��,2���� ��2-��EG �
��� 2=�<8�� 8�1 ��� 8�E=�2�2��:� =� 8�B2�1���-� ��H�1:=�2�? �
���H�� �<�� =;�=�.��=��� ,�,� .3� ;�8�21��3G

/� �� ��8�1<�� J��M� /� =;��D�2�1� (>H,�2� �H��:� B�����C
��=�2����G� /� �� 23?� (���<�E���I�13H?� 2� J����=1>H��� ,�,M �
��� 2���A��=:� 2� ���2,>M

��<�8�1=-GGG� �����3�9�2� J���<�H��� ;��A�� @A�,>� .�C
��83?� 23�� �-� <1�B���� .�1:D�?� H��� =1�2���O

/� ��F;��23I?� B�I�H��� 1�� (�1�2��M� �� /� ���1�� �@A� .>C
8��M� ��F2���3I?� �,� ��=-� ;����� ��8�2�1��� �1�,=��2G� � �
2F����:�I� /� �> ��� 1�� -� ���?� �1�,=��8�� �2��3HM� �� �� �� 1� �
-� �> ��M� ��,� J��� ;��2�1:��� ;��-�:M

�� =�����1� ��� (>H,�2�� =� � �8������ �� ��8� 8�EG
/� 	>B=,�EM� /� ;���.���1� ���� ,�,�=2��I�;�8H��A��3IG �

/� �-1�2��G� �� =1�D,��� J<��=�G� �� /� ,��� �@A� �� ��� .3�:M
��,��>1�� (>H,�2�� .�B8�-��1:��F<�>=����?� <�� 8��C

=,�F8���D����23�� ����G� ��.��1=-���?� ;� �2�1G� ��=��8�C
��H�1=-G

/� ��� H���  � 23� ��� ,>����?� <�=;�8�M� ����-����2�8:� ,>C
���:� I�����G

�� >� ��I� �.��I� 8�2��� ;�1:93�H�=�1�=:?� ���@�8�1�� (>HC
,�2�G� ��;��:� �2�H��� 8��-�>1=-� N����H,>� ��,�3�:G� $�83C
��1�?� �2�H��� ��>.,>G� 	�B2�1�1�=:G

(>H,�2� �@���1:��� ;��DA1� �><�E� ,��I��1:��E�=�1N��C
,�E� ;�� <>.��?� 2�,�><� <>.?� ;�8� >=���?� ;�� 2��I>� .���83G �
��1� �1G

��8�-1=-G� �� �>,�E� B�� .������ =K��>,�� ;�I�8�1?� �82� �
B������� ;��I���32�-?� ;�� ��.�1:D��>� ;��=����=�2>?� ��C
=,�1:,�� D�<�2� �>�� .31�G� ��� ��� <1�B�I� �2��8�1� ��8� �� � �C
1�8�1G
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���2�� =�1G� 	>,�� =�.��1� 2� B���,� ;���8� =�.�EG
/� (�=;�8�G� ��8�K=:?� -� ��<>� ��==H��32��:� ��� 2�D� �

��1H����� 2�� 2=�I� =1>H�-IM� ��B:�>� =�2�=� =1�2�� H�=��M
��?� ,���H��?� ��B>����=-G
�� /� H>�:� B�8����� <�1�2>� ��B�8?� B�������3E�8>J1-��G �

��8����>� ��<�� ��1:,��H>�:�;����=�2�1�=:� /� ;�� ;���8>�.�.C
��,�� �� ;�� ,��-�� .���83G

/� (�=;�8�?� -� ��� 2� >� ;��;-�=�2�E� ;�8�1��:=-� =� 2��� �
=��.�� ���-��?� H��� �@A� ��� >;>@���GGG� =�2��D��:G

��,P� �� 8�1=-� �����3�9�2� H�=�� =2��<�P� ��� �;�B8�1G �
&31� B8�=:G

(>H,�2� .�1:D�� ��� ��<�� �� =�����1G
�� =�B������� =2��E� =1�23� �� 21�=��� 2� J��E� =�����G
�� =� �<��:,��� ��<�� ��=,�?� ��E� 2�H��E� ;����.��=��� 2 �

��=,�?� H��� 2�1�� �<�� H���B�� 2=K�  �B�:G
/� "�I���1� .3��.=>8��:�=�2���O� H���8�1 �3�8�1��:� ;��C

����3?� �=1�� 2�8-�?� ,�,� 2� �- ,�E� H�=� ��8��>� ��;��21-�� �
�� ���N�2�����2� ��D>��2M� X���8�1 �3�8�1��:�=��13��1KC
8�� =� ;�1� �����?� 21�-����� �� ��> ���M� �K8�?� ,����3� �
2=A� 8���?� ��� =� ,����3I� �� =;��=��=-� �=�����EM

+(

)� 1�,=��8� � (>H,�20

Y A8�� � (>H,�2?� 8 �8 � �1�,=��8��?� .31� , � �; �=��3 � �82� � �23 � �H�C
1 �2 � , � � � � �1�-� � �=1�2��8 , �E � ;�� �@�93G� �� , ��9�� ; �B�; � �D 1�<��2�, �? �
�����89���� 1��?� ��� ;�;�1� 2� � �=,2>� �� .31� ��8��� >H��� , � � � 2� =>, � �C
�>K� 1 �2,>� B�� WS� , � ; � � , � 2� � �=-9� )<��2�� � � , � ; � � �@ �,>?� <��2����, �
� � >0G� � ���1=-� ��� , � � ; �=� � �E?� 23,>;�1� =�.- � �� =�� :K?� >=����1� 2� � � �C
� . � �  � �=, � � � D ��=�-�>K� N �. � � ,>� =� ��<1�E=,�� �� =���,�� �G� ��=�� :� �
=H���1�=:?� H��� �3=1:� ;�8 �<��:� � �=,2>� =� ; �8 I �8 � � � � �; �1��� �� ;��C
��81� �1�� � � >G� �=A� =<�� �1 � � /� ��� ��� 2=A� 2�B� . � �2 �1 � �� ��=D���1G �
�8� � , � � �@ A� ;���  �B��� �=��2�1� N �. � � ,>� �� � � �<�2 � �� 8�1� � =3��2:-�? �
�� =�� � .31� =�=1��� 2� � � � � �B�2 �8=, � B��>; � - � � � � =��� � � . �-8H�=�2�G� �3� �
�<�� �2��?� ;�1K.�2� B��> �KK� N���9> �� ,>� � ���1�� � �<�B?� ; � � � �8 �C
2�1=-� ,>H�� � � ?� H��.3� ;��� � , �>�:� 2� �A � ,2�� �� �>� ��� ,>I�K?� /� �� ��, �
>21A, � �A?� >2 AB� ��� �> � � ��  �� �1=-?� 2=�� � J��� � ; ��32�-� =�� =� � � � � .C
� -8=�2 � �G� ��� � �<�� .� �, �� .31�� H��2���� =3 ��2�E?� =��8�� ��I� �� � 1 � ,C
=��8�G� � ��- � �� J�� � � ��� 2 �2=�� 23 .�1=-� �B� ;1���� � �=, �2=, �<� � ,>;�H�C
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=�2�?� =�=��-1� H1���� � . � � , �2=, � I � �� �,9� �� �� �3 I� ;��21���E� �� 8 � � � ,C
������2� )2;��H��?� ��� .31� .�<��?� � �=1�8=�2�� >=�>;�1� .� ��>� Y A8� �>? �
�� ���9� ��� =H���1� �<�� I �B- � � � � 0?� /�  �B�:� �1�,=��8� � � =1� �1�=:� � �C
�.3 , � �2 �� � � � 81-� �<�� � �8�� �� � , �> �� � -?� 1�D��E� ��B� >. � 8�-?� H�� �
��D� I�� �, ��� � �� �=�:� ��D�� =>8:.�G

# �� <� � � �B�=��� � �� � �=;3��1� ��� �13�� �.@ �=�2�� �3 �� =���=��G �
�� =�� :�� �<�?� , �, � .32D�E� , � �; �=�� �E?� .31�� ; � ,1 �� �� � �� � 1 � ,=� �8C
�>� %%� /� �� ; �=1�� 23=���1�� $�=>1�H� ��D�� (>H,�2� 2� D , �1 �� B�=�>; �1C
=-� B�� ;��2���1:=�2�O� =���1-2D�-� ;�8�-1�� �> ,> � ��� 8�2�� � � � � � � 1�9� �
( �=>8�� -P� � �>H���,�� ; �.�1� � �<�� B�� J��G� ��� 2=, � � � �  �� ; ��-1� �� � � �
=�� � � ���2���� �>K� ;��1�=�:� ��� � �� �O� ��� ; �B� � � � & ��1 � �=, �<� � , � � C
<��==�?� ��<1�E=,�<�� N1��� � 2� & �=N � � �?� ��D�� ��D�1� =2��E� �>, �E �
>.��:� � �B��J1�� B�� � � � � �>==,>K� ;�1��� ,>?� 2� � � � - � H�=��� 	 �==��G �
�>;�1� ��2�1:2��?� >H�1=-� =���1-�:?� <���2�1� 8��:<�� ��� ; � . �<� 2� � �<C
1�K� /� �� 2�=���<�1=-� =H�=�:��� ;��� ��:� ,�B�:� B�� 	 �==�KG� ��� 8 � 2 �C
��1=-� .���>?� .����238�1� � �9>� /� �� 2=A� � �B�>D�1�=:G� )X �� �B� ���89��: �
1��� <1�2�K� ��D�E� 8>� =, �E � 8�1�<�9��� 2� � � �8� � � � �=��� �2�1=-� ; � � �8 �
; � � - �� � , � � � 1 � �8>� & � , � �=N �18>O� ??� � 2�8:� �3� � �<� ; �<�.�>�: � �� �
� � �E� � > , � P�R 0

�,��H�2� � �=, �2=,>K � <�� ��B�K� =� B�1 � � �E� � �8�1:K?� B���� � � �
� �=, �2=, �E� >��2��=����� Q, � �8�8� � � �R� )��� �=�:� �� �� =� ��1�H���0? �
�� � �@ A� ;-�:� 1��� �B8�1� 2� (��� ���K� 8�,��H�2��:� ��� � � . � �B�2� � � �? �
=1>D��:� =�� ������� N �1 �=�N=, � � � �� J, � � � � �H�=, � �?� �� ; � � � � � � ��;�C
=�1� � �=, �1: , � � � �.��� /� � . � � .@ �=�2�� � � � � B��1�21�8�� � �?� �� =� � � I �C
2����?� �� I �B-E=�2�� � �E�  �B��� 8� �2� �<�� � �2<�� �8�?� �� 8� �=, �2�1=- �
), � , � .�==�B����1:� �� ; � �8H>2=�2>�� � �3� =���� = � . - 0O� >H�=�2�2�1�� 1� �
� ,�������� 2� <�=>8��=�2�� � � � � B�<�2� � � � ����2�H�M� �� W4� <�8�� (>H,�2 �
=8�1� 2� <� �� �8��=, � � � ; �1 ,>� J,B� � � � � ��� ; ��; ��@�,�?� �� J�� � ��� .31� �
; � �=�3 � � ��.3 �� �� � ; �2��� �=��� >��2��=� � ��=, � � � H�1 �2�, � � ?� , � , � � �
2� W[� 1��� ��� =1>H�E��� .31�� �B.��� � �� ; �HA��3 � � � � � �23 � � =>8:AE �
� �=,23?� 2� 4*� /� H1���� � � �=, �2=, �E � <� � �8=, �E � >;��23O� <�� 8��C
=,�-� �� 2��� � �- � 8�-��1:��=�:� ; �� �=�,1�=:� �� ;���;1�1�=:� ���  �B�� �
(>H,�2�� /� ; � �1�� �� �=, �<�� �������?� <�=>8��=�2�� � �<�� H�1�2�, �?� ��C
� �E=, �<� � B�=��E��, �?� =�18���?� ��1�H��<�� =���1,�G

� � ��� ;��-�:?� H��� �H��:� ����� �� =� .�1:K� �� � �=�B� �1� � �=; � �=�� �C
�A�� � �� �>==, � � � � � � �11�<�� �=,��� =2�E=�2�� /� ��� D � . , � � 1K.��:� � � �
� � � � � � � � 	 ?� .�1:D�� �� �A� � ��B<�2���2��:?� =;����:?� �� �=1�� > � �� 2B- � :C
=-?� ��,� ��� 8�8�132��:� 8 � � ,��9�?� ;��@��:� =�. �� �� 8 �><� � � �=��2D ��=- �
2��D ,�G� � � ��� .3�:� ��� , � � ; , �E� , � �=�:- �=, �F,>; �H�=, �E� ���>�3 �
�@>��1� 2� =�. �� � 1�,=��8� � (>H,�2� =;�=�.� �=�: � �� 2�1KO� 8�1��:� �� 8 � C
8�132��:G� �� 2� ��� 2� � � -?� , � , � .32D�E� �<�� >� �2��=����=,�E� ��2�� �@ �
��2�1� � �1K,�2� 2=A� .�1:D�� =1�8�=��� � �I�8�1� 2� 8�=;>�� I � ��1 �,9 � - I? �
(>H,�2�� �B� . � .1� �� �, � �� �>8���� �E� =�32�1�� ,� =�>8��H�=, � � �8>J1- � �
2� ( ��� ����?� ,� . �K?� �� ,� 8 �1>G� � � , �<8�� ��� =2�8���1:?� 2 �B8�� /� >H�=�C
��,?� �� 8� �� =��2�F<�1�2�G

#=13D�2� �� <�1�8�� 2� 	 �==��?� ;�, �8�1� �� � .��1� �=, �E� >� �2 ��=�C
���� /� �� , �8�1=-� 2� � �  �<� � �8=,>K � <1>D:O� =���:� 2�1�=��3 � � ; �=�� �� �
�� , � � � � �: � 8�� �2�KG� 	�B�1�� �>�, � � ��� -�� /� (>H,�2� , �8�1=-� �>8�G
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�;�=��� �I� �� � �- � =��� �� ��� =� � �> � � � �E� � ��H >�=,�E�  �1�B��E �
8 � � �<� � /� (>H,�2?� ; � , � �>2� �>��9�;�1:�>K� 8�-��1:��=�:� 2� � �=,2�? �
> �� ���?� =1> ��� �N �9 �� � � � �� 8� �� �@��� . � �23 I� =��1, � �2�� �EG� ��=KC
8�� � � � � � 	 � � � .��� /� �� �� � =����=�2>��� ,� B�2���3 � � � �=��� � �<�G� �<� �
�>H��� ; � �=, � <� � �8� �B� �<�G� ��H�1�=:� 8�1A, �- � ��� ����H�=,�-� .> �C
=,�-� 2�E��?� , ��F��� 2�1 �>��=- � ��8� <�B���3� �� 8�; �D �� �?� ,��F��� ; �A� �
Q����=2��1:� 2� �< � �R� /� �1�,=��8�� (>H,�2� =� .� � � � � � Y A8�� � � � > � �
8 � . � �2�1:9 � � � � =��8�� .>� �2?� �� 8� �� I� �.�3 �� .>�3 � >8�21-K�=-� �<� �
=�� � � .1�8�� �K � 2� . � K O� ; �8� ,����H:K� ��� �=� �A�=-� ��=;>�32��:� ; �C
=� � � � , � � B� � -8� �<� � -@�,�?� 23=2�. �  8�- � � >1�2� �B� <�.�1�G� $�� 2=� �
J��� <�83 � ��� ��B� ; � � I �8� �=- � � � > � ;�=��:� ;��@�1:�3�� ;�=:��� � �8� � �C
1- � � ��� =1>H�E� =2��E� � ��B.� � �E� =� ����G� �� .>�=, �E � 2�E��� �82�� �� �
; �� ��-� �� ��<�?� �=��1�=:� I � � � � � � � ��� 2=K�  �B�:Z� =� W[� 1��� > �� �>H��� �
�<� � <�>8� �- �  �.�G� ��� 2=;3 I�2���� 2�==��� � �� � � , �8 � �=, � I � H����,�2 �
;����2� �> � � , � /� �� 2� � � > �� (>H,�2� �8�� � 8 � . � �2�1:9�� � �>8�G� ��D: �
��� + *F� � <�8> � .�=; �, �E�3E� J���� H�1�2�,�  ����=-G� +W� <�8�� � � >� / �
�� � � � > I �8 � � � ��� - ; � �=,>K � 2�E�>?� I��- � ��� =� 2� � ��2, �E?� �� >; �1 � � � �C
H���3�� � � �=� �<�� � ��=��� �� � �=, �2=, �E � >;��23� )2;��H��?� ��� � � �>�� �
�<�� �� , � � � � , �E � -; ��=,�E� ;1��0G

�?� � �  � �?� �@ A� �� ��� � � � � ��� >�-1=-� .3� ��� ��B32��:=-� ���8�1:��� �
� � � �23 �� =�.3 ��-?� �=1�� .3� =��3�� <1�2�3�� =�.3 ��-� )� �<8�� �@ A� ��C
, � � � ��� ; � �B� �2�1?� H��� /� 2=�� � � �3 �0� ��� B�,1�, � � �1� � .3� 2� =� � � � �
=��89�� 	 �==��G� �� 2=A?� H��� 8�1�1� (>H,�2� 8 � � =�I� ;��?� B�<���1=-� �� , �C
8�1=-� ; �=�.1- �:?� /� � , �B�1�=: �1�D:� .� �  �� � �� � � �1 �83 �?� 1�D:� ; �8C
<� � �2 , �K � �> � � ,� =�.3 � � - � � <�=>8��=�2�� �3 �G� ��;��:F��� ;��D1�=: �
; � ; � � . �2��:?� H��� =8K ��� �� � 81-� 	�==��G

# �� 8�2�1: � � � .31�� � � - � �<�� �B2�=�� �?� �� ;�� � �=,2�� B�����3E �
.31� �� � H�1�2�,G� � �� ��-=:� �B� ���H >���� 2�=� �K � *LS7?� >B��1� ��?� H�� �
��� � �=, �2=, �E � <� � �8=, �E � 8>�3 � �B.� �� � ��� � �E=, � � �B� � =, � � � =�2�@ �C
���G� � �� � > �� 2=A� . �1 ��� 2382�<�1�=:� ��� =� .=�2�� � �FB��93 O� ����>�F �
,�2�H?� � �1K,�2?� 	�8�H�2?� .���:-� � �1<� �>, �23 G� ��2�@����� ; � � �B�C
1�� ; � � �B �<�� � �, �1�� � =2��E� ��2�1K9��� � �=��G� � ��-� �� �B.���1�=: �
8�;>��9�- � ,� 9��K� ; �=�2���2��: � � � >� , ��=���>9�K?� ��� � � �<���  � 8�C
1�?� H��.� � � , �B�� � � .31�� 2� ; � �A� �?� �� � �  � � � .31�� .3� � ��<1-8� ��� � �BC
2���H�2��:� ��2�1K9�KG� #����� ��-� D �; �2=,�-� <�>;;�?� �� 2� ��E� (>HC
, �2?� �=��1�=:� 2� ; � � �9 � � � � � � � ��:D��=�2�G� ��� (>H,�2>?� ��� �B.� � � � �C
� > � 2� 8�;>��9�K?� , �, � ��B� 2� � 2� �� - � =T�B8�� ;��D1�� 1�H���� ;��<1�D�C
���� 2� � �� ��<�N � ,� ( �=>8��K � )��=13D��� ��>� �� 8�-��1:��=��� (>H,�2� �
2� � � �=� � � � � � �=��� �� �� =; � � � I � =� � �1K,�23 �0G� &31� ;���-�?� .�=�8�2�1 �
9�13E� 2�H��?� ;��� 2=���H�� � �1�=��2�� ;��=>�=�2�2�1�� <�=>8��3 �-� )8 �C
1 �, � � ��� ; � �82�8-� 2� J� � � � ,>;H�,�� =2� �<� � .>8>@ �<� � 1K��<�� 2��<�0G �
V��� .31�� =� �B>� ;�=1�� �>=��3 � �� �@ A� 8� � ; � �A� �� B�� =, �E �8�;>��9��G �
(>H, �2?� , �, � ��� ;��� � �1� =�.- � �� =�� �8��  9�?� 8�1� =�2��3� � > �=�2��C
��<�� .32�1�<�� H�1�2�, �� /� H�1�2�,>� B�=�8�2D ��>=-?� � �<� � �  � � � �C
� > � ���  �B��� �� � � . , � � >O� ��� 8��:� 2�>����� �E� =1�.�=��� �8�1��:� 	 �=C
=�K?� ��� 2� , � � � � =1>H��� ��� �8��� ��� ; ���� � �� �� =� ";����E?� <8�� �<�� �
2� �D �� I� 8�� �2� ��D��� �>==,>K � =>8:.>Z� ��?� > � 22-B�2D�=:?� ; � �C
8�1 ��: � =��-�:� ;����2� " ;����?� �� 2� 	 �==��� .3=�� �?� . �B� =1� �3 I
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23 .�� �2?� =�.���:� $� � =, �E � � �. � � � /� � � � 82��- �=�2�?� , � �=�:-�=�2�� � �
<�� � ��?� -2��:=-� �>8�� =� � � � >� �� 23=�>;��:� =� �1 �?� H��� 2� ; � �D 1�� �
.31�� � � �<�� =8�1���� �D � . � ,?� ���� ��� ; �2�� � - �=-?� ��� =�EH�=� ��� 2 � � � - �
� �N � � � ?� �� 2� �� - � /� �,��H��:� J�>�2�E�>?� ;��� �8��=�2�� =����3� ��� � � C
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�8��3 I � 1K8�E� =1>D�1�� >2�� �� �3 I� � � � � � � �2?� =T�B8� 	 � � � � � � � � 	 � �
, �, � .>8�� � � �<� ���  �=�2�2��:O� =1� ��-� =� �8�-- � 1���-� � .@ �=�2��C
��<�� ��B2���-� .31�� -=��� 23�� ���� 2� ��H�I� �� � � �=; �� �� � � � ; ��� �C
��1�=:� �>8���� � �EG� ��� , �<8� � 2=, � � � � ��H�1�=:� 23 .��3 � 2� � > � > � / �
� �1, � �� ;������ �� � I� ,��8�8��3 � 1 �<, � � ��,�132�1�=:� �� � Q� �KB�� *6 �
� , � - . � -R?� 2=�>;�1�� 2� 1K.3�� .�=;���9�;�3�� .1 � , �?� 1�D:� .3� .3�: �
�B.��� �3 � �G� �� =�.�����-� =�1�@�� � �KB�� �, �B�1�=:� � �>I�EG� �� � .@ �C
=�2�?� 2=A� .�1��� � . �B1A� � � � � �� >. �  8A� � � �?� H��� � � , � , � �� =�<1�D ���- �
=� � � 	 � � � � � � � � � � � �2 �B� �  �3 ?� ��� ��8�2�1�� <�1 �=�2� =�����3�� ; � � ; �C
2�8� � , � � � , �, �EF��� =��8��E� 1����� �� =�<1�D ���-G� �� ��� 23 .� � � I � 2 �
� ��2>K� � > � > � 2� ��H�1�� *LS[ � <�8�� �, �-.� �=�3 � ;����; �1�� =� , �>D � �F

77



� �1:���� ; �� � �� � �?� 8� �� =�� �� '�;�2� �� (>H,�2� ��� .31�� �B.���3G� � �
, � , � .>8 � � � B�- � ���� J��� � �=-93 � =�1�1�=:� 2�;1����:� =2��� 23=�, � � �
;���9�;3� 2� ; �=1>D ���� ; �1� ��H�=,��� ��1�G

� �� .31� , � �B�=� 81-� � . � � I?� ��?� ;��� ��B��9�� 2�B��=��� 2=�<�� 2 �
**� 1��?� 81-� '�;�2�� /� ; �� �1�� �2D �E� �<�� �.@�=�2�� �>K� 8�- ��1:C
��=�:� ��� � �=I�8-@ >K� 2��2:?� 81-� (>H,�2�� /� 2B�32D �E� �<��  �B�: �
;�� 2 �=I �8-@ �EG� ��� I �H��=-� =,�B��:?� H��� �� � ;��� �� �-?� ��� ���=�D �8C
D �I=-� � �=, �1 : , � I � ;��H��� ��� � � � � ���� �� ��B�D1�=:?� ��8� �� ��H> 8�F �
1�=:G� �=, � � � � ; �=1�� � �>8�H�3I� 23 .�� �2� '�;�2� >=�>;�1� (>H,�2> �
;�=�� ; � �8=�8�� �1- � Q� �KB�� *6� � , � - . � -RG� &31�� 2� � I � ��=I� 8�� � � �
=� �� �� J; � I?� ��� .31�� �� ��?� H��� ;�� B�, � � � � � =�.=�2�� � �E�  �B��� �3 �
8�1 �3 ?� ��3<��2� =2 �A?� ��� B�8�� �2��:=-� ��� =9���G� '�;�2�� J��� ��C
=��<1�� 2� ;-�:8�=-�� ;-�:� 1��?� =H�=�1�23� ��?� , �<� � ��=��<���� 2� =�� :8�C
=-�?� �� ��3�� �� 2� ���89��:� �� ��3G

��� J�� I� � .B� � �3 I � =�����9�I� �3� ��,� � � �<�� B�� � � � ��=-� � � � �C
�� �� � ' �;�23�� ��� ; � � � � >?� H��� ��� ;�21�-1� ��� I � 8 � �>==, �E� �=�����? �
��� � � � � � � � ; � � � �>?� H��� =� ��H�1��� =��3 I�  �=� � , � I � =���-=���1:�3I �
1��� �� �� ;�21�-1� � �=, �1: , �G� �<�� >� ��-K@��� .1�<��2�� �3 �� 8�E=�C
2�-� ; � � � � I � � � I� I� 1��?� ;��� �=D��� �� >=; �I � �<�� � �81�� �3 � � �=� �2�C
��1:�3 � � B��3=1�� � �� 2=�� �==�E=, � � � 21�-���� � � > � =� � � � >?� /� =� ��C
H�1��� �.@ �=�2�� � �E� � � -=, � � =� ��-K �=-� H���8�E� ;��� ���E?� H�=��3I �
=� � � � � , �B�2 � �� ; �1�3 � � B�82�<� � � 2� .�B8�E=�2� �?� � � . � �=� � � 2� .�==�C
1��G� � � �� � � � ; � � � � >� �3� ��,� 2������1:�3� ,� >� � , � � � ' �;�2�?� H��� B� �
H��2���:� 2�, � � =2��E� �.@ �=�2�� � �E� 8�-��1:��=��� ��� , �, � .>8�� � �� �
��� <� �8>=� ��� >,1 � � �1=- � � � � =���1,�� ���2=�2����E� �8��?� 23D�8D�E �
�B� 9������ � �1 �<� �B� �<�� =�B��� �-?� , � ��=-� ��� ��� �8 � � � � D�<�� ��� .31 �
�B1 � .1 � �?� �1�� � �B<��-H�1=-� .3� .� � : . �E?� =2�8�1� .3� =� ;� ���2� �,�C
��� =HA�3?� �1�� .31� .3� 1>, �2?� �1�� ,��3=���?� �1�� =1�2�1K.�2?� / �
���P� � � � =2�� � � =; � , �E �3 � � �.=��-��1:�3 � � > � � � � ;��1�<�1� ���2=�C
2�� �>K� �8�K� ,� �>==, �E � �=���� �?� �� ��� <8�F��� ��� B�82�� , � I?� ��� �� �
=��3 I� <1�2�3I� � �=��I?� �� 2� =��3�� �;�=�3�� ;�� �1�� �3 �� � �=-93� 81- �
	 �==�� � 23B32�1=-� ,� ( �=>8��K � 81-� =�2�� �2?� 81-� ;�1>H���-� � � � �C
=� � �=, � I � ; �=��2?� �� 2� �K��� *LS[� /� �� ;�=��� ; � �� : ��F� � � �=�� �G� �� / �
2=�� �<�� =�2��3 � �, �B�1�=:� ��� ;���-�3��G� �� /� � � � � 2=�I � ;�=��2� �� �
� � , �B�1=-?� =��H�-� =�� � � �D �� � �� =�1� �� ��=������E?� /� =�����3E� >8�1 �
=��1:� � � �<� I � �>==, � I � 8�- ��1�EO� ;�� ��B�3 � � ;��H����?� ;�H��� 2=�C
<8�� /� � � , �BGGG

#��, � '�;�2�� � � ; � -  A� � � � 8� � � � � 2 � ; � �=� � O� 2� � .@ �� �=>@ �=�C
2� � � � 1�� ; �=1�8�2�� �1:� �F� � �2=�2�� � � �� 8�E=�2��� 2� �=�����M� �1�� / �
, � , �2 � �  �� 8�1 � � � .3�:� ���2=�2����-� B��1�=�:� �.@�=�2�� 81-� ��,�E �
8�-��1:� �=��M� ���� �� 6S� 1�� � =;>=�-� �� 2� =��3 I� � �B�;� ���3 I� =�����I? �
2�, � � � �  �2>@ �I� ��B2���K � <� ., �E� ;�1���H�=,�E�  �B�:K?� /� � � �<� �
1�� =�<1�D ���E� �� , � � ; � � � �==�2 � 8�=��<���=-� ��� �B� � �2��2�=�-�  �8C
�3I� � � � � � � � 	 � � �� � � � ?� �� /� �B� 23=D�<�� ;�� � � �� �-?� �B� 8�> �1K.� �E �
>=�>;H�2�=�� � =8�1��:� 8 �><� 8 �><>� 8�. � �M� ��H��� ��1:G

� �, � ;��� � �H�� � �� � B�<�.�� ���;3� �3� >2�� �� � � � 2�8�� � =2�E �
;>�:� ; � - �3 �?� �� 1�D:� � �=, � � � � � . � ��> �2���?� H��� �;�=�1�� ;��1K?� / �
��,� �� 2� ;�1���H�=,�E�  �B��� '�;�2�� B�� ;�=1�8��E� =1�D ,�� � .>�C
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�3E� <�8� .31� =�2��D A� � B�<�.?� � � > � =� � � � >� ��� B�� �� �3EG� �@A� <�8� � �C
B�8� ��� =H���1� 81-� 	 �==��� , ��=���>9�K� <>.���1:�3 � � ;>�A�G� $� � � � �
�B� ;�=1>D���-� � ����D:�E� 2�1 �� =��1� ; � �2 �8� � , � � � � ���N�=��� *6� � , C
�-.�- � /� �2A� �� =�� �<�� ( �=>8�� -G� ��;��:�  �?� , �<8� � ; � . �8� � /� �82�? �
��� ; �� �2�=�� /� �=��2�1�=:� B�� 21�=�:K?� '�;�2?� ��� B�� �H�-?� 2=A� . �1 �� �
;������1� =��� � �>� , �8�� �2�O

�1�=�:� 8�1 � � � ��, �B��:=-� � � � .�� : .3 � =� � .@ �=�2� �G
�� J��� =��3�� � �=-93� >.�2�1�� =����� 8�1 � �=� �3 I �1�9?� �1�� < � �C

B�1�� >.�E=�2�� � ).����� (>H,�2�� � � ,�1�-?� � �= , �2=, �<� � < � � �8=, �<� �
<�1�2>?� B�� ; � �� �2�8�E=�2��� B�. �=��2, �� � ����<� �� � �2�E@�, �2� 	 � � �
� � � � � � 	 � ;�=����2�1� /� � � � � � � � � �8� � , � � '�;�2� ��� ;� � .�21-1O� ??� � � . C
@�=�2�� 8�1 � � � ��, �B��:=-� ��� .��:.3 � =� 21�=�:KR G� ��� ��D ��32�1=- �
;�88�� ��:� J���<�H�3�� 8�E=�2�- � ���13;���?� , � � � �3E� - , � .3 � ??�� �
;��B��2�1� � � �2=�2��� �<�� ��H�1�� 2� <�=>8��=�2�� � � � � =�� ��� �� < �=>8� �C
=�2����E�  �B� �R?� �� =,1�� -1=-� ��8��:� ; �=1�8�KK� 2� 2�1K� , �8�� �2? �
>� , �<� � ,�, � ��B� ���2=�2��� ��� ��H�1�� �� >���32�1�� 2� ;�1��� , �G

��,� .>8�� � ;��� =�8�E=�2>K@ �I?� � �=;�1�<�K@�I� � .=� �- � �1:=�C
2�I� 2=���H�1�=:� '�;�2� =�� � ��13;��3�� 1 �� � � � *LS[?� �.<�2�� �2�-? �
, �, � 2� �=��� =�B8��:� ;��2���1:=�2�?� /� ��� � � , � , � � � =�<1�=� �� 8� �� �� �
; � � � �1:, �>1�� � �  8>� �� � �?� �� =��B>� /� 8>D �2� � � � 2�>�� �� � ��� � � ��1C
,�2��� �?� , � � � � � � � � �2 �B�>� � � �<� � , � � � , �<� � ' �;�2�� 8 �2 �1 � � 8�� 2 � BC
.> 8A� � �<�?� =.�2H�2�<�� �=, � � . � � �1: � �<�� �.T-=� �� � -?� ; � � � � � � �B1 �C
 �� � �<�� ;�� 1�<�H�=,� � � ;>� , �� �O� ���13;��� ��� ; � �8��� �=, � �� � � � ��C
� �N�=�>� �� 8� �� /� ; � ���2� �, � �<�Z� ��� I�H��� 2�=��� =����>� 2� � � �8�C
9�-I� =����<�� �.=�1K��B� �Z� ��� ; � �� �.� �<���� ;��8=��2���1:�3� � �
>H�� 8��� -� �?� ��� /� <1�2�3E� 2� ��2�� ,� � �=;>=, � � *FE� �>�3 Z� >� � �C
<�� /� �<����H���3E� ;�1���H�=,�E� , �><�B� �?� � �<1>. � , � � � � .@ ��� � �C
� �=�B��9�� � �Z� ��� ��� =�� �� � �=-� ,� � .@ ��>� .1�<>� �� 23=D�E� ;� �28�Z� � �
; � � � �� � /� =�� �>2�� ��?� 21�=���?� �� 2�� � =>� �1� ;�8H����:� =2 � � � > � ;�C
<>.� � � >?� ��� =�1:� ��>� 21�-��K� ( �=>8��-G

�� ���13;��>?� 2�� �- � � �?� 2�8�1�=:?� H��� ' �;�2?� ;��� =2-��=�� �
2 �� I �2 �<� � , �><�B�� �?� 1�D A�� I2��, �?� ; �2� � � �1 �2�=��?� .3=���E� J� ��C
<��?� =1�2��� ��B<�2���2���?� �� �� �� � �� � 2� , �>�>K� � � �>�>� ��� =; �=� . � � �
��H�<�?� �� 	�==�K� =;�=��:� /� � � > � ��� ;�� =�1��G

#��, � '�;�2�� � �� � . �1 �� � ;�H�1��?� H��� =2�� � ; �=1�8� � �� <�83?� �� �
�B.� � ���3E� 2� � > � >?� 2=A� . �1��� 23D�.1���3E� �� >=����A��3E� 8� � �
�B� � �1 , �E � 8�-��1:��=��?� 8� �� �B� >�B8� �<� � B��=�2� ��� �B� � �=, �2=, �E �
<� � �8=, �E � 8>�3 ?� �� � �81���1:��� B���� �-=:� � � �>�� � � �?� � � � ; � �-2�1 �
��� 2 �B� �=D >K ?� �� �=1�.D>K� �=�� � �>�B��� �-?� , �<8� � ; �1>=1AB� �- � ;1A�C
,�� 8�. � � �3 � �� =1�D ,�� � ��=��EH�2�E?� � ���,1��H�2�E� 2��3 � � �D ��� �
2�8��:G� � �; �=32�-� � ��>��3 � �=��:K� *L*5?� ��� �BT-=�-�� � ���?� H��� 2�� �
B�,��H�1�=:� ; �=1�8�-- � .�1:D �-� 2�E��� �=�����?� ; �8� . � � - � , � �2�2�- �
,���=�� �N�� � � , �<8�� ��� ; �2��� � �=-?� �,��H���1:��� � �=; ��2��<�>�3 �
�8��� � �1���� �B� �� �� � � ; �� � �1�B� �?� � �1�<� �B� ��� =�B��� � �� ; � . �8 �1 �? �
�=� . � � � � � 2� � � �8� �A��3 I� '����I?� �>==,�E�  �� � � � �8?� . �<� � �=�9 ��� . � C
<��=,���1:?� 2� � �8 �1A, � � � .>8>@ �� � 2��2:� ; �8� � � � �=- � =� , �1 ��?� �� � �C
��11�<��9�-� =�<1�=>��� =2�� � 2B<1-83 � =��8��1�� � � � � � �8� �<�� 8>I �?� , �, �
�������=�F=�9��1�=�� � �2��, �2?� > �� ;���D �8D�E� 2� I� �=����=�2�G
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�� � � , �E� , � � �9 � ' �;�2�� B�=��21-��� >=>� � � �:=-?� � �=,�1:, �� � �C
HA�1�2�� �� .3=���� �9���2�1� .3� ��� =�.3 ��-� �� ��8�2�1� ��D���-?� �=C
1�� .3� 2� �K��� *LS[ � =�<1�=�1=-� .3� 2�B<1�2��:� �>==, � � � ;��2���1:=�C
2�M� )V��� /� ��� =� �2 �1�H�=, � � � ; ��8=��21��� �O� 2� � �I �  �� ; � � �<�2�C
��I� � � � -8>� =� ' �;�23�� >H�=�2�2�1� �<�� .1�B,�E� �8����3D1���� , �
, � -B: � (G��G� � :2�2G� �� *L*6� ��� � ; �, �B�1?� H�<�� =���1�� 2=-� 1���-G0� � �C
H���-� � � � �8� >=��EH�23 � � . �<� � �=9�� ?� ��H�<�?� ;��28�?� .31�� �� ��� � �C
8��:� �<� � 2B. �3 , � � � , �8 � �=, �E � �>�3M� /� . �<� � �=9>� ��H��� ��� ; �2 � �C
8��?� � � � 2=A� ��2��� ; �83 � ��=- � ��� ��<�G� �B� ��D�<�� ��8�1�� �-� ��� �
1�<H�� ��;��:� �9��� �:� =��2����1:�>K� ;� �2��>� �� ��; � �2��>� '�;�2� �
�� � ��13;���?� 81-� �� I� =� � � I � 2� <��-H��� � �8�1�� ; �=��<���3 �� ��1:,� �
� � �>�9��EG

���13;��� � , �B�1=- � � � , �23 � � H�1�2�, � � � �� 81-� (>H,�2�?� 2� �<� �
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, �, � � �2�1K9�-� ��1�<�1�=:?� ; �8�� � �1�� <�1�23� =�� =2��E �
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��==H��32�1� �,�B��:� ; � - � � �� 1�H���� 21�-���?� 8� �� ;�2���>�:� I � 8 �
	�==��G

�3� � ��-� ; ��=����?� ��D�� � �1�H�=�2�?� -� =8�1�1� =2��E �
=;�9��1:��=�:K� <�2����:� 2�� � � �1:, � � �- A13 �� 2�@�G� " �
B��K?� 23� � , �> ��3 �1K8:� �?� , � � � �3 �� =��.@ �K �� 2�� �1�D: �
;��-����G

�� .31� ������=��� ( �=>8��K?� �� �<8�� �H��:� >21�, �1� �<�G� ��1:� (>HC
,�2�� .31�� /� ��B.��:�1 A8 � � �  8>� � > � �E � �� ( �=>8�� � �G� � ��� 2��� ���1:C
��� 23=1>D�2�1� )2;� �H��?� J��� ;�==�2�3��=�=��- � � - � 2=�<8��>� ��<�� 23F

��� ) * L* S0 O
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<1-8�1� � ; � �28� ; �8 � . � �0?� ��� H�=��� �� 23=,�B32�1=-�  �2�G� � �8 �B� �C
2�1� (>H,�2� �� ��,?� H��� ��3�� 2�1�� =��-1�� B�� ( �=>8�� � � � /� B�� B�8� �C
��� 82�� : � � � �1�� 2� ><� � �A� � � � � =�B������ � �� �� I�?� /� ���1�=:?� D�;��C
1�=:?� =;1���1�=:� =��;����� �� ����;����?� 21�-��-?� ,�;��B3� �� 23�=,� �
D �3<�K@�I� ����E� /� ??;��82���3E� D A; � �RG� �@A� .31�� �� D�=�:� 1�� �
� �  8>� ��� �� /� �� =� J��E� 2�B��=�� �E� =�>;��:,�� �� �� =� ��� �1� (>HC
, �2� =� �1�K@�� ��� ;��-��3E� 2B��, � 9��-?� �8� � , � � 1�DA��3E� >=� � � �C
1���-G

� � �=��� =�� � ��13;��3� � ��B8�1-1� (>H,�2� J�>� ���<�H�=,>K� ��1:O �
��=���2��:� � �� �� I�K � 2�; � �, � � � � � � � I>?� �2��������21�=��� ;����2� � �C
=���1�E� 21�=��G

��-�  �B�:� ;��� �81� ��� ( �=>8��K?� ��� =�2�=�:� � � > �
��� ; ��� �81� ��?� �� -� .>8>� ;��8�1 ��:� .�� ��:=-G

�>I� �1� � �2� B�.�21-1� ( �=>8�� - � ; � �8>� , �K � � �23 I� � � � �E=,� I �
N � � � � )( �=>8�� : � 1K.�1� � I � , � , � � � .A� � ,?� ��� B�2-1� .3?� �=1�� .3� 2=- �
�� � �- � .31�� �8�� � � �8 � � � , �2 �0?� �B.�<�1� >���1-�:� =,>H�3��� 8 � ,1 �C
8�� �?� =,�32�1� � �8�=���, �G� �� . �1��� 2=�<�� � � � � �B�1� =� ��>� 23=D�<� �
, � � � �8�2 � � � - � ��� . � �2 � �G� �� �>8���9�-I� (>H,�2�  �1�2�1=-� ( �=>8�C
�K?� H��� 2=�� � �N � � �3 � ��� ��� B�� �81��3?� ��� � �B2�2���=-�2��� ��-� ; � �C
�3D1��� �=�:?� ��I� �H�=,� �� >1>HD���-� 2�8>�=-� B�� =HA�� ���=�����3I �
B� , �B�2G� �� 2� <1�B�I� ( �=>8�� - � H���1� �� ��,O� =2�8� ��� =HA�3� =� � � � �C
=�� � �M

(>H,�2� .31� � �>A� �=�?� 2=�<8�� /� 23B�2?� �� 8� �� 2� <�8 � ; � �8=�C
8���1:=�2�� ��� � �<� >8�� ��:=-� /� ;��� �1� �8 �>� �B� � � �<� I � =2�� I �
8>J1 �E?� =� � , � - . � �=� � � �  �� <� �N �� � #2���23�?� ;�, �8�1� � > � >?� H��. �
��.3 �:� +FIF� �=-H���� � �, �B��� �� 2� ,� �; �=�� � /� ��� 23=�H�ED��� ; �2 �C
1�� � � � � ; � �@ �� �?� ��� � �=�8�1� �� � �=-9�G� )� ��8�� �>H, �2=, � I � 8>J1�E �
8�1 � � � .31�� .3�:� �8� �� �� =� � �1K,�23�?� B�� 8> � =, � � � �=, � � .1 �� � �G0

� � ; � � � � � (>H,�2� =��2�1=-O� ;�=1�� �H��:� �A;1 �<� � ; � �A� �� ; �8 �C
1�1=-� >=;�I� � � � �� � �8� 8�� � � =� , �11�<�� � � 2� � > � � � H>�:� ;�D���� / �
; � ; �1�� 2� <�B��3?� �� � � �� �-� ( �=>8�� - � � � �?� /� �� =1�8>K@�E� ��B� 9��: �
2=�����1� (>H,�2�� I �1 �8 � �?� ��� =�8-=:G� ��� ;��@�-G� ���H���� ��2=�<8�G

�� ��,���  �� ;��323� �� 8A�<��:-� ��� 8�2�1�� ;1�2��� ��H:� =� � �>8C
��H�=�2>� (>H,�2�� =�� � ��13;��3�G� �� , �<8� � ����2� � ����� *L**� ; � �2A1 �
B�; �8� � �� B��=�2� � � �=;>=, � � � �>�3 � �� � �2���� ��� ���� 8�-� /� (>H,�2 �
�=;3��1� ;�� � �.� �=�:� =�1:��� ��8A��>�:=-?� H��.3� 2�8�1�� 2=�?� H�� �
� � � /� ��� =�>H�=���,G� &� �=�1� ; � �8=�8���1:=�2�� 2� � > � �?� ��;��:� � � > �
� �1: , � � �-<�=�� � �?� , �<8� � �� � � �B�D A1=-� =� � � �A�?� �� =� ��;��21����� �
� � �=� �<�� � ��=��� ; ��I�1� =� ��� ��: � H>�>� 2� ���H >���� );�8�1:D�? �
H��.3� ��� 2�B2� � � �1 �0G� �B2��H�2�-� =�.-?� ��� ; � �8>� �1� �.T-=���: �
� ��13;��>?� >8�21A� � � � >?� B�H�� � ��,�-� � �; �� �� � �- � � �B, �=�:O

�3� B�����?� , �, � -� 8�� � �1� 2�D�E� ; � . �8 �E?� ,�,� ��� �
.31�� ����2�=��3� 2�D�� 2��<�G� ��� D�<?� ,����3E�23�8�1��C
��?� /� � � , �2 �E?� ��� � �1:, �� 81-� 2�=� 1�H��� )- � B��K?� 23� , �
J� � � >� � �2� �8>D �3 0?� �� �� 81-� ��E� � . � �21A� � �E� 	 �==��?� , � C
����-� 2�� � ��,� 8 � � �<� � �� , � � � � �- �2�D�� ��  �� >=�1�-� �� =��C
1�� 23I�8��:� �B� I��=�G

� B� ���H >���� (>H,�2� 2�� �>1=-� 2� �2<>=��?� B�� � �=, �1: , � � 8��E
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8�� >.�E=�2�� ���13;���G� �>�� �<�� 8�=��<� =1>I?� H��� N � �=, � �� � �9� �� �C
1�=�3� <���2-�� ��� � ��13;���� ; � ,>D �� � �� )2 �B� �  � �?� .31�� �� ��C
, � �0?� /� �� ��� >=;�1� 8��:� B���:� �>�1 �2>� 2� � � �2?� ��� =� � � � > � � ���>� � �C
,�8:�2�H>?� H��.3� ��� ���2� � �:� �<�G

�� =���-.��?� 2� J,=� � � � � � � � ; � �B8�?� =� ; �1>=��� �K � � , � - . � �=� �2? �
(>H,�2� �I�1� 2� ���2� ��� ; � I � � � �3G

	�=,��2�1=-� 1�� ��?� H��� ��� ; �=1�8� �� � ;>��� ��� ; �88��  �1� � ��C
13;���M� /� ��;��:?� 2� HA� � � �<?� ��� ;������1� ��� =�. - � B�8�H>� >.� � �<�G �
��� �, �-. � �=��2� �.2� �-1� , �8�� �2� 2� ; �8<� � �2 , � � � .@ �=�2�� � �<� � � �C
=������-?� �.1�<H�2D�<�� >.�E=�2�G� �� +SFE � 8��:� �� � =� �� � � � � , � - . � �C
=�3� 2��=1�� 2� � > � � � B�; � �=O

	�2�1K9����3 �� ;������ �� 2��<�� 	 �==��?� � .T �8� � �2C
D�=:?� �=;�1��1�� =2�K� 8�2��D�KK� ><� �B> � ����=���:� � �C
�>?� ,��� , �<8�F��� ;�8�2�1� ��2�1K9�KG

�� (>H,�2?� ; �88�� �2�- � B�; � �=O
V��� .31��  �B�:� B�� 9��-� �� B�� � �8� �>?� �� =����:�B��9�C

�-� �� B�� � �8� �>GGG� � �, �1�� � �?� ,� , � � � � � � > � -� ; � � � �81� >? �
� �8�1�=:� ; �8� 23=���1� � � � � , �B�2�G� � � �2�2�- � �� <�-B��- �
2�1��� �������� ;��,���1�=:� ;�� � �D ��>� ���H�=�2>?� >� �=- �
=� =�. �E� � � � -F� =2�. �8� � �1-G� � �� � �� � B� � � � � �B�1 � �� � � � � �C
B��� ;�=�>;���1:�3E� I �8 � � �N �� �Z� � �� � � � � 8�2�1� � �> � � � 2 �
�>, � � ���,9��Z� � �� � � � � =2�� � � , � �2�23 � � �>� � � � � � � ,>��1 �
B��K� �>==, �E� =2� . �83 ?� J��� =2� �� >� 2=� I � 2� ;��-��� � � � � � �
��� 	� �� � � � � � �  � $ $ � � � � � & ' $ � � � � � �  � ! � � � , � 	 � #� � � � � � � � + � 	 � �
# � � � - & ' � . � �� ��;��:� ��� � �� � >=�����1� �� � �<�?� , � � � . �1 �� �
2=�I � =�8�E=�2�2�1� >,��;1���K � >� ��=� � � � �8� �<� � ; � �8=��C
2���1:=�2�G

� � , �><� -B23?� =T�8�2D�E�  �2�E� � �<�� �B� � �>==, �<� �
� ���8�?� ,�; �D �1�=:� H��2�G� ���� =8�1�1�� =�. � � �B� ��D�<� �
� �8><�� �=��H��,� B8�� �2:-G� � � � � � �  � ! / � � � � � 	 � 	 & ' � � � 1- �
J��E� .��83� =>@�=�2�2�1�� ��1:, � � =�� . � �  � � � - � ,��:��3? �
��=HA�3� ,��3=��G� � � � � � � � � 	� �� � � � � � �  � ! � � � � � & ' � � V��� .3 C
1�� ,�>;�3 �� .��8��3� � � � � � �  � ! � � � � 	 � + � � & ' � $ � Q �8��K �
��1;�E� =��-@ ��R ?� ��� =� ; �8,1 �8, �E� � �1 , � I � � �D �� � � , �2G �
�� , �<8� � ���� >2�8�1�?� H��� � � � ��=�>;�1�� ��� I2�=�?� =��1� �
�.=���<��:� � I � , �<�� � �� ; ��2��-�:� � �=��� �� �3 �� =H���?� / �
���� =2�� � � � 8�E=�2�- � � � �� ; � ;>=�� � �1:=�2�� � 8�1�� ; � �C
�B�E��� >.�E=�2>� ;� �8=�8���1-� =�2���� � � � �=�� �2GGG

$�; � �=� ��B32�1� ;�� � � �� � � � 2=�I � H��3 �AI� /� � >�1�2�?� � ;���8�2�F �
H�?� ����<���?� � >1-. ,>?� �� (>H,�2� =� ���.>�3 � �@ A� 8�. �21-1� ; �8 � � .C
��=��E� �� ��I� /� 2B-��H��H�=�2�?� 2=,�3���� 8�� � �3 I� ;�=��G

$�, �18�2�� �3E� ;��,1-�3E� , �><?� 2� , � � � � � � � . :A�=- �
;��2���1:=�2�G� �1�=�:� 2� ;1��>� >� =2� � I � =1><G� $ � � -?� , � � �C
��E� 23� ��=�>;���� ��� <�1�2>� � � � � 	 � � � � 	 �  ! " � � =�
� � � 	 � � 	 � � 0 # � � ��� ) � # � � & ' � $ � > �1��� =��1:H�,�?� �� , � � � 81- �
, �<� � J��� � �  �� � .3�:� =�����1:�3E� > , >=� ��� ; ��@����G �
+ �� � � � � � 	 � � �  � � � � � � � � � � � � � � � � �� ) � � � � � � �� �� �� 	 � � � " � � �# �
	 � � � � � � � � � ) 	 , � � � � 	 " � �� - � � � � 	 � � � * # � � � � G� � �><�E� ;>�:� /
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;�1��-� � ���<�� �B�9�-� ;�1���H�=,�E� ;�1�9��G� �2����� 1� �
>� 2�=� ��D �� �=��M

���?� ,�� �H��?� ��� I2���1�G� � .��HA��3�� 2=A� �=��2�1�� ; �F=� �C
� � � >G

�� 2� � " � � F��� (>H,�2� ;���� �1� �� 	�=;>����?� 8�=��2�1=-� �� ��� �
( >H, �2>� 2� � -  A1�� � � �=1�8=�2�G� ��� �>�� .31�� �;�=��=�:� � � �<�=1�EC
��O� � �1:B-� .31�� ��=;�I�>�:� ; �� �8�� 2=�� � � � � �8� � � 	 �==��?� H��� 8�1� �
, �=���=- � =� � �<� � =�� �8��  9�?� /� I��- � � � �� � �� � � >� (>H,�2� ��� � �< �
;��=���:� �� =�.- � �� ; � � � � . � �  A� � �<� � ���13;���G� (>H,�2� �=,�1� ; � � �C
@�� � � � �=�� �2G� ��� � �DA1G� � �<8�� 2� -�2���� *L*W� 2� �>H,�2=, �E� <�B��� �
??�( �1 �=� � �=,23R� ��;�H���1�=:� =���:-?� �B�.1�H�2D�-� I13=��2=�2� �
	 �=;>����G� � � � �� � .31?� � �B>� ���=-?� , � �N �=, �2 ��?� � �8�, � � � � ; ��21�C
HA�� , � =>8>G� V��� 8�2�1�� � , � - . � �=�� � � ;��2�� B�;��=�O

� � , �1 � � �2-��ED�E� ����8� .>8�� � .�B� �12=�2�2��: � � �
. �B8�E=�2�2��:?� ��.1K8�-?� , �, � ��B3<�32���� � � �<� , � � �C
8�K� ; � � I �8 � � �9?� I13=�?� J��� � � � �?� D��1����� (��<���E �
	�=;>���M� � �H��>� ��1H��� �; �=, �;3?� ��I�;�=�3��M� � �H�C
� > � 2=�� � <�B��� � � 2� � �� �� .>�<�� �� � �=,2�� ; � �8T-21���� �� �C
.�2�� � �� ��H�<�� ��� ;�H����:� �� 	�=;>����M

�� (>H,�2?� ; �88��  �2 �- �=2�E� B�;��=� � �=��O
� �.1�<�; �1>H��� 2� ��D�� � <�=>8��=�2�G� �;�=��=�: �

<� �B� � � � �D �� � � �� �8�3 � � =2-�3 �-�G� & �B� �12=�2>K �� � �C
���I�?� . �B8�E=�2>�� � <�=>8��=�2�� � �- � 21�=�:G� �� ��<8�� ;��C
�����H�=,�E� 8�1<� ;��==3� �� � � � �8� �<�� ;��8=��2���1:=�C
2�� /� 8��:� � =I �8 � � .@ �=�2�� � � �>� ��<�8�2���KG

�� 2 �=1�8?� ;��� � .=> 8�� � � � =���3� �2-��ED�<�� � ���8�O
"� � � , �<8�� �@ A� ��� 23=�>;�1� ��� J�>� � � � .>�>� =� ��, � � �

� -  A13 � � H>2=�2��G� �> ��� 8>D �2� � � � � �=�������?� � ��� �� �
=2�E=�2�� � � �?� �� =,1�8�8>D �?� � ��� H> 83E?� H��.3�=�=� �8 �C
��H��:� 2��� �� � �� ��� =���I�2����� 9 �� , �2 � �<� � � �>@�=�2�? �
>��2������ � ; �=, � ;=, � I � � ,1 �8�2?� 8� �� ��� ;��<���2���1:C
�3I� D �<�I� ,� =�B3 2>� ; � � �=� � �<�� =� . � � �?� , �<8� � 2=A� J�� �
�>=, � ���?� �� I�H��=-� � � � * � � � �� *�	� � � � � 	 � � � �� 	 ) � � � 	 � � � � � �
�� 	 ) � � � 	 � � � � $ 	 � � � � � � � � 	 &!! � V���� �B>2��F=�, � � � � � �1�� ; � �C
I �8� � �9F;1>�?� J��� =������-� N�<>��� 2� �=2�@���� � aa� =� �C
1���-� � � � � � �  � ??V���� � � 	 � 	 � � � � � � � 	� � � � & ' � $ � /� , �, � � � � ;>�-C
��� B�I2���1� J��� � H�1�2�,� � � , � �� 21�-���?� ; � �8� , � � � �3 � �
=,1��-K �=-� 23=D��� ��=���1�� <�=>8��=�2�� � �E� �� 9 �� , �2C
��E� 21�=��M� � � � � � �  � $$1� � � - � � � � � � � 	 � P`0� �8>��E��=:� ��1:C
, �?� , � � �  �� I�B-E��H���� ���2��I�IM� � ��� 2������ �>� �=:?� , � C
����-� ��@��� B�� =� . �K � =� ��>� ��;��21���E� �� =� ��>�1�9?� ;�C
8�� � �� �8� � I?� 2�B23D�� � �� 8�><�IM� � " � � � � � � 2 3 -  � $$ �� )+	 �
� � � � � � 	 & ' � � $�� =;���E� (��<���-� 	�=;>����� /� 9�1�-� .��C
8�?� ;A=�� �- � �� � �� �8�� � �-� , � � ; �� �-?� 2B-2D�-� ��� � � ,>; �
�� �<��1�H��=�:?� �� �<�� H��3G� � ��� �; � ��A�3 � =���9�P� V��� ��� �
=>N1� �>K �� � � > � ��?� H��� �� �D�;H���8�1:D�G� V��� 9�1��� , � � C
� ��H�=, � � � ; � �8;� �-�� �?� >� �1 � � �� � � � , � � 2�8>@ ��� =2�K� �<C
�>G� � � ,�, �- � ��2�1K9���� �-� �� �� ��9��, �2��-� ;��;�<��8�
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B�� <�83 � ��� � �<1�� .3� =8�1��:� � �<�?� H��� 	�=;>���3 � �8 �=� �C
<���=-� 2� � �=, �1 : , � � 8��EG� �� =�� =2��E� ��H,�� B��� � - � ;��2 �
=�9� �1F8�� � , � � � � ( �<�H,�� �?� =,�B�2D�EO� Q	�=;>�� � � ; �1 �C
B��RG� ��?� 81-� 8�>B�E� (�<�H,��� � 8� �� � �� � ; �1 �B� ��?� H�� �
� �=;>����P� �� 2� J�>� =���D�>K� � � �>�>?� =��8� � ��H�-��-� � �
=�-����-� �8� � I?� B1�� �8=�2�� 8�><� I?� /� <8��  �� 21�=�:M �
21�=�:� 9��,2�� �� 21�=�:� <�=>8��=�2�M� � � <8�� .31�� 23?� �.��F �
; � � ,>� � � � �2-��ED�<�� ����8�M� � �<8�� >� ��=� ; � � I �8�1� �
B�,��3 � �� <������-I� � �1�<��B�3 I�=2 � . �8?� �� ;��2�� ;���E�� �
�B� �8� �<� � 2�� � �=; �2�8�� � - � 2� 8 �><� �?� �� =� � � � � . � -8H�=, � I �
�.@���I?� H��.3� �=;��2��:� 2�, �2>K � ��; � �28>?� /� �3� 2�= �
2�8�1�� =��8�� ; � � � �2� � , �2G� �� -B2>?� ��BT�8�K@>K� =��89�F �
2��>� ����8��E� 8>D �?� /� 23� ; � �<1-8�1�P

"� B���H�1?� H��� 8�=��<D ��� .�1:D �I�  �B� �� �3 I� .1�< �
� �� ��� 2=�<�� =,1�� �3 � �� � � ;�=�>;��:=-G� $� �KO� ��� 2=�<8� �
� � � � � ���.�2��:� <�� � �B� �G� ��� �=�:� J��H�=,�E� � � � � �>�? �
�.-B���1:�3E� 81-� � �=���1-� 21�=��G� �=�:� � � � �� �3?� , �<8� �
� � � ' � � � � �B��H���� 8 �><� �?� H��� ; � �=1> �2��:=-G� � �<8� �
<�� 8��=,�E� ; �82�<� =����2��=-� �.-B�� � �=�:KG� � �8� <�8 �C
��� * L * * F* L * W � �>==, � � � 1���; �=9�� � .>8�� � B�; �=�� �O� ??� �
J��� <�83� ;��� � . � �F; � � , > � � � � � �2-��ED�<�� � ���8�� �1�C
8�� � � �� � ��1�2�H�� � �.1���� ;��2�=1�2��-� 9�� , �2: � 8�D1� �
8� � � �=13I��� �<�� >� �  �� � -R P

� �=1�� J��EF��� ��H�� �� .31�� ; � � � �121�� � � � � ; �� �� � �9�EO� Q( >HC
,�2�� � �1�� ; �2�=� �:PR� ��� =��1� > �� ��� ; �1���H�=,� �?� �� 1�H�3�� 2� �C
<�� � � � ; �� � � � �=, �E� H��3G� ��� �� =�� � � � �� � �� ��,� ;��� � �1G

X��� ��BH�� ��� 23=�>;�1?� ��� �  �=��H�� =��� �2�1=-� 2;��8:?� �� 2=A �
� �� ��� ��B.��H�2� 2� =� �8=�2�IG� �� ��H�1�� *L*W� ��� ��=;��=����-1� ;�� � . C
@�=�2>� <�, ��<��N���2�� �3 �� , �; � � � ; �=�� � �� ;������93� �� 2�1 � , � I �
, � -  A� � ,� 	�=;>���>?� 8�.3 �3 I� H���B� � �� �I�� � 1� �8�� � � )�� H�=�:� � , �C
B�1�=:� ; �88�1 , �E0G� �� � �<8��  �� ��E�3E� �>H,�2=, �E� � �N �� � � � � � � � �C
1�2�� �2?� ��� �=��2����� , � , �<�F�� � ; � �H�A�� �<�� � � � =1> �. � �<� � ;�=:C
��� ,� � >I� �1� � �2>?� 232�1� �� 8 � �A=� (>H,�2>?� H��� 2� 2� �� � � � � � � � �C
=���=�2�� =1> ��� /� �� .1 �B� , � ,� � � � �=��>� /� <�� � � �=, �E� D;���� � -C
=� �8 �2?� ,� � � �>�  �� .32D�E�  ��8�� �=,�E� �N �9��?� ,� � � � > �  �� �3�� �
;�=��21���3E� 81-� ��.1K8���-� B�� ;�1���H�=,�E� , � � � �1 �E� 2� ��� ��G �
)� � , � � � ��.1K8��� �� > �� 8�2� �� � �=>�=�2�2�1�?� �=2�8� � � � �1 � � .31� �
=�-�3?� ��� .31�� H�=���-� �� � �8�2�--� ;�;3�,�� � � � �=���G0� ��1:B-� .3 C
1�� ;��8>� ��:� .�1��� 8� �B�-@�<�� =�H�����-� �� 1>HD�<�� � �=��� 81-� >8�C
��O� 2� =1>H��� >=;�I�� =2��<�1=-� 2��� �3E� � ���=��� ), � ; �=�>� , � � � � �<� �
(>H,�2� �=� . � � � � � � �2� �2�10� �� =��2�1=-� =2�E� � �1�2�� �2G� �� (>H,�2 �
��� B�� �81�1� =� >8���� �O� ���� =��=�9��� �3 I� <�B���3 I� =���:�� )2� 82> I �
=>2�� � �=, � I � �� �>H, �2=, �E0� /� Q';���� � �� =3 =,R?� Q���� B�2 �8>�� �2 �
	 �==��� , � � � � � �B2 �8, �EMR?� �� B�-21��� �� (>H,�2��2� � � � � � ���� ( �=>8� �C
=�2����E� � .����3G� � �.32�1��� 2� �=������ 	 �==��� �.2� � �� � �� 2 � � � � �C
<�� � ���=���=�2�P� VNN�, � � >=�1�1=-� ���?� H��� ; ��21�,�1�=:� =��;���� �
� .@ �=�2�O�  ��8�� �=,�E� �N�9��P� ;�1���H�=,�E� � �8B��P� �� D ;� ��=�C
2�P� /� 2�� � , �, �23 � ���P� � .@�=�2�� � �B32��� B�2�1� �2�1�=:?� � � � . �2 �C
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1�� � � , �3 ��- � =�, � � � �2� 2 � � � � �<� � � ���=���=�2�G� # �� =1>I� � ;���=1�=:? �
H��� � �1�2�� �2� B�� �� � � � �>I��1� � �2�G� ��� �� (>H,�2� , � � � � � =1>I�2� ��C
H�<�� ��� � �<� �=� �2���1: � �<�� 231� ��:� ��� 8� ; � �=�� >� ; � �,>��� �?� �� �� �
; �1 �2�� �2=, � �� 8���3 �� �, �B�1�=:� � �=�� :AB�3 � �G� )� ;� �H��?� �� 8�� , � �C
9��  �B��� (>H,�2� J� �<� � ��� ; ��B��1G0� ��� �� �>I� �1� � �2� ��>=1�2�� � �8C
1�1� =� � ; � �2 ��  � � � - � �G� � �<8�� ; �8; �1, �2 � � , � � -=��8�2� ��� ���.>�� �
. �<�2� >8���1� �B8���1- � & �� �=�� �>2������ I13=�� � � ;�� 1�9>?� �� (>H, �C
2�� 23B2�1� ��� 8>J1:G� �?� ,� J� � � > � (>H,�2� .31� <���2� 2=�<8�P� ���� =�� �C
1-1�=:� ��� � � �=� �2=, � � � �=� � �2�� /� �� (>H,�2� ; �-2�1=-�2� � > � � � =� ; �8C
.�� ��2�� � �E� �>, �E?� ; �8� .>�K � 8>� =, � I � � ;1�8�=� �� � �2G� )� �2� � -=��F �
8�2� � � � � ��� =�� �1-1?� ��� ���� � � � =,��8�1�� >DA1� 2� � �=��2,>G0

(� �� �1� � ��H�� ;�� =�����?� �� , �B�1�=:� /� 2=A� ��� ��I� � ��-1�=:� 2 �
<�=>8��=�2�G

�� ��� � �� -1�=:� /� ��H�<�G� &�=H>2=�2�� � �E� =����E� 2=A� ��,�  � �
23=�1�=:� � �� I �2� �- � �1�=�:� /� �� .��1�� ��H�-���?� H��� ���� � �, �I� =�1 �
/� ; � �.� �:� 2� ��E� �, � � � 81- � =2���� �� =,2 �B� - , �G� � �� ; �1��?� . 3 1 � 1� �
���� � ���N�=�?� �1�� � �1:, � � �=��2�1� ;��-�:� �� ; �=;�D1�2�E� 9��=,�E �
��>=�=��M� �� =�� �� ;����-� � , � - . � �=��2� /� . 3 1 � � 1�� )=, � � � � Q;��C
���E� ; � � ��-� � �E� <� � � � �3 R� � �B�2A�� �A� 2� 8:� ;� �23I� _ �<1�2���20M �
� �,� .>8 � � � /� .31�?� �=1�� =�=��21-1�� >=��EH�23E� 9����� 4�FE� �>�3G� �� �
;��� 23 . � � � I � 2� +FK ?� �=��:K� *L*W� <�8�?� ;����-� ; ����;�1�� ;��� ��� �? �
� � � ,>�� �- � �� =1�2�� �� =;��2�� )�=�. � � � �=�: � 9�� �� �0?� 81-�1�23 I� /� ;��C
��-� ; � � �@ � , �2 � �� , �>; � �E� .>� >�B��?� 81-� ;��23I� /� 	 � � � � � � �,  � � �
� � 	 ) � 	 � � � � � ! � � ����; �1�� ;��� �� � �� /� �� > �� ��8�� .31�� >=�1��:=- �
N�� ��B��E� �� �2A�8�=�:K � <�1�=�?� H��.� >�2�� 8��:?� H��� ;����-� /� �=�:G �
�� .�1:D �� 2=�<�� � �I � >=�1�E� 23;�8�1�� �;-�:� ��� (>H,�2�?� �=���B�� � �C
<�� ��� ; � �823 .� � �3 I� � � � � �<�I� )=��2����1:��� =� >=��EH�23��8>� =, � � �
; �1 �  � � � � � ?� � � � � �<�F>I� �2�� � - � B���B.� � � ��1-� � � .31�� � � > � >� �B�C
��1:�30?� �� ; �=1�� � �<�� /� =��=�9�-� ��� 2=K� 	�==�KP� /� B�.�11��� � �C
2�� � �<�� �� =2��K � � �=,2�K?� > �� .�1:D �� /� ��� 1K.��9�?� ��� ,>� � � � �
� �=,23?� ;���� ��H�2�-� ;>.1� , � � ;�D1�� ;���.����:� 8�1:D�G

��� ;��23�?� ��� 1�23 �� ��� ;��=��1�� � � >� �<�� 23=�>;1���E?� �<� �
=� �8� �E� 1����G� � �� �E� � �>8� �E� 1����� � .@ �=�2�� � �<�� ��B2���-G

�@ A� 2H���� �3� =H���1� =2�K� ;����K� �� =�.- � /� 	�==��EG� �� 28�>< �
23� �, �B�1�=:� =�2=�� � ��� 	 �==�-G� � � �.�� � ��  �=��, �?� �� ;���� ����� ; � �C
�=D �8D �<�� 8 �1<� � ��� ; � � I �8� �G� X�1�2�,� � � , �<8�� ��� ;�=��<���� =� �B> �
=�3=1�� ; � � �=D �8D �<�� =� �� �G� ��� , �<8� � �B� �� �� :- � J��� ,� >=; �I>?� , �
; � . �8 �?� /� �3 � 2=A�  �� � �B.� � � ��=-� 2� ��I� .3=���EG� � �>8��E� ��B1�C
H��:?� H���  �B�:� � � � 2��D � � � �<�� ;1�=, �<�� :- � =1�� �1�=:� , � �B>?� �� J�� �
� �; � ; � �2� � �?� �� I � � - � .� �@ A� ���89��:�1��� => 8�� � � �E� �-�>�:=-?� �� � �1:C
, � � > �� , � �B>� �� , � �B>G

V��� ;��� ��:�� ��=��<1�� (>H,�2�� 2=�<�� 2� 7S� 1��G� � . �=,>� � ��C
�3E?� � � � ��� ;��-1� �� ��� ;���-1� ;��<�2���G� ���2���1� �@ A�2� =2��� =�13 �
/�� =�� � ; �2�� �>�:� =>8: .>� �� =2�K?� �� ;�����G� �=;3������� =� �8=�2�O� �� �
>�I�1� ��� . �1, � �=,>K � 2�E�>?� ���� ;��.31� <�8G� ��� <�8 � �=�3=1�2�1 �
; � � �=D �8D ��� /� �� ; ��-1� , � , � B��,O� �B� �� � �:� 1���K� .��:.3G

�� =�� �-.� �� *L*4� 2� � � �2�� ��� ��,�3 ���� ;�� -�� �,�� � ��13;��> �
(>H,�2� 2�B1� �1 � 2�� � , � �� � �1H�� 8�� B��1� � ; �,1�� �1=-G� �2���>� > . �C
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� � � >� � �2�=� � ,>?� �8� � � �3D1�� � � ,>� �� =�; � � � � ,>� ��� ;�� � � �1� 2 � �C
��=�:?� , �, � ;��� � �1?� >� ��D �E� =��2�� .3� >8�2�1=-G� �� � �- . � �?� � �; � �C
�����3E� �� � �1�� � �3E?� (>H,�2� =�-�>1� , � �N �� ��9�K � =2� � I � � �=; �1C
B�K@�I=-� � , �-. � �=��2� �� ; ��8=��2�1� � � � �� =������ /� ;�1�3E� ; �2 � � � � �
=2��E� 8�-��1:��=��O

��D�� ; � �<� �� � �?� �=> 8A� � � - � 2� � - � � � � < �8>� , � , �
=1�D ,�� � >� �� �� � �- � �� ��=��1�-?� .31�� �=��=�2�� �3 � � � ; � �C
� �B� � � � J; �I �?� 1 �B>�<� � � ; ��� � ����-G� V��� .31� � � �  �=�C
2���3E� 8 �<�2 � � � � �  8>� �=��� �H�=,�E� 21�=�:K� �� �>==, � � �
� .@ �=�2� � ?� 8 �<�2 � � � �� 2B�� � � �E�1�-1:� �=��G� �� � >==, � � > �
� .@ �=�2>� ��� .31�� .3� �;��28���-?� �=1�� .3� 2� � � � � � � �< � �BC
��E� �;�=��=��� 81-� <�=>8��=�2�� � � � � � � , �B�1�� .3� 21�=��� 2 �
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